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oS | 378-M4 TARH| 0.40x0.30x0.10 1 H Py =EA| PAMSAZ
100 oS | 378-44 AN 0.65x0.45x0.10 1 H &2 EEA| NESYZ
oINS | 378-M4 Y= H1.00 2 = 2zt =IA| PAMSYZ
oINS | 378-M4 SF H0.40 8 | & 22 =EA| FNSAZ
oINS | 378-M4 A H0.30 1 Es 3 =EA| FNSAZ
QNS | 378-44 22 CIROIE 1 7| 23t =EA| PAMSAE
1027 | OIMS | 378-44 HaoH| 0.400.30%0.10 1 7H FA =IHA| AMSYZ
oINS | 378-44 BF H1.00 1 = 2 =IXA| PMSYZ
oINS | 378-M4 22 TS 1 7| &z TEA| ANSAZ
18 oINS | 378-44 HAloH| 040%0.30%0.10 1] K 22 STA| §MEYE
OINE | 378-44 22 == 1 7| &z =EA| ANSAZ
b oINS | 37844 | TRRH]| 040x030x010 | 1 | A 2z STA| AREE
ipE | 378-44 22 == 1 7| &2 =EA| ANSA=Z
100 oINS | 378-44 HEloH| 040x0300.10 1] A 2 SETA| pMEYE
QNS | 378-44 =22 TS 1 7| &2 SEA| AMEAZ
! NS | 37844 | TR 040x030x010 | 1 | JH | 2w SmA| s
OINE | 378-44 22 TS 1 7| &z =EA| ANSAZ
b OINS | 37844 | TR 040X030x010 | 1 | 7 | Zm S| piNEYR
1033 | QNS | 378-25 22 CHEE 1 7| gt =XA Fus
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oINS | 378-25 A 0.90x0600.15 1| H Hp 2o EpE
1034 | QS | 378-25 Bz P GES 1 7| Clay 2EA =S
OIME | 378-25 =] ERoIE 1] 7 o SIA| FNSUZ
1o oINS | 378-25 =M 0.75%0.25%0.10 1| K Hpod S| eiEZ
OIME | 378-25 =] CRYoIE 1| 7 S SIA| BNSUR
s oINS | 378-25 A 0.70x025X0,08 1 M Hprod Al M=
oINS | 37825 22 CRR0IE 1 7| A+E EoA| MRS
o OIAlE | 378-25 A 0.75%025x0.10 1 7H = 2TA| AEHE
OIMES | 378-25 22 ERYOIE 1] 7 ok SxA| 5=
e QS | 378-25 =N 0.70x0.25x0.08 1 IH Ope 2| Hs2
NS | 37825 2= S PSG[ES 1 7| AFEN So|31 AlSES Liol5Z]
o oitls | 378-25 B 070X025x008 | 1 | 7 | AlEj ol ABES LioksZl
QIME | 378-25 =) CIRjofE 1] 7 POy A H52 210
OINE | 378-25 Tae| 040%0.300.10 1 7K M 2TA| HSZ 210
1040 | oINS | 378-25 AR 0.65x0.45%0.10 1 7 M EEA| 352 210
oINS | 378-25 =l HO.60 " | F M SuA| F52 210
oINS | 378-25 SR H1.00 8 | & M 2gA| HSZ 210
oINS | 37825 22 CIRI0I=E 1 7| B St hei
het oINS | 378-25 TEoH| 0.40%0.30<0.10 1 N ELES itz sleiod
oINS | 378-25 2= ChEoIE 1] 7 Pagel] L7\ Al #dT
e QNS | 378-25 7 0.75%0.25x0.10 1 7K 25t 7| $2UA] AN
1043 | QIS | 378-25 =] ERoIE 1| 7 Z*st 7= TRIA| 2T
oINS | 378-25 22 CIEIE 1 7|
104 | 9IMS | 378-25 A 0.70x0.25%0.08 1 74
MT | 378-25 A 0.65x0.45x%0.15 1 7
oINS | 378-25 2= ERGES 1 7| Z|*5 21A| Sslx7=2
b QNS | 378-25 =M 0.70%0.25x0.08 1 7K 5| 2| SlXI72
oINS | 3784 22 ChEoIE 1| 7 a2 =EA| B2
10 oINS | 3784 =N 0.70x0.25<0.08 1 N 2+ ZuA| AlslE
OINS | 378-25 2= e 1 7| A 2| ANE
e oINS | 378-25 "M 0.70x0.25%0.08 1| 7H R 2EA| ARE
oINS | 3784 22 CRYoIE L 7| SxA| ez
1 oINS | 3784 =AM 0.70x0.25<0.08 1 N ol7| 2| Alslz
1049 | QINS | 378-25 2o CIRo)I= 1| 7
OIMS | 378-25 = e 1 7| SN 2gA| HoHz
e AT | 378-25 A 0.75x0.25%0.10 1 IH ESEN 2hA| HeHz
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i oINS | 378-25 0.70x0.25%0.08 1] M Hpss OIRA| RmT Meikiz
olNE | 378-25 CHIoIE 1] 71 == S2A| SE0EZ
s oINS | 378-25 0.70x025%0.08 1] A 2=+ SuA| SHOISZ
s | 38 TS 17 afs OIFA| FE MEMZ
b oINS | 378-25 0.70x025%0.08 1] A Hpzx OIRA| 2m7 MxZ
oS | 378-25 CHIOIE 1] 7l = MEA| BSZF
ot oINS | 378-25 0.90x0.25%0.10 1] M 3 MEA| FSZ
oINS | 378-25 CHoIE 1] 7l & SZA| MRIZ2
1o WS | 378-25 0.75x0.250.10 1 N &t SIA| MIE
oINS | 378-25 EHIoIE 1] 7 =5 =2A SsiRHE
s S | 378-25 0.75x0.25%0.10 1 IH 5 2A| K72
OINE | 378-24 CIEo= 1 7|
1057
oINS | 378-24 050x020x0.08 L
oINS | 378-24 CROIE 1] 7
1058
oINS | 378-24 0.75x025x0.10 1] M
oS | 378-43 CHIoIE 1] 7 s SZAl QM=
0 NS | 378-43 0.70x0.25<0.08 1 7H e SIA| SM=
oINS | 378-24 CHIOIE 1] 7 ors Z|= 82U 7Ie+ =
s oINS | 378-24 0.60x0.20%0.10 1] A d=i | 8OIA| 7157 7=
oINS | 378-24 CHIOIE 1] 7l ors Z|= 82U 7Ig+ 2=
s oINS | 378-24 0.70%x025%0.10 1] A oprs W|= 8OIA| 7157 722
1062 | QNS | 378-24 CHIoIE 1] 7
NS | 378-24 ES(GIES 1 7|
1063
oINS | 378-24 0.70x025%0.08 1] A
1064 | QNS | 378-24 CHIOIE 1] 71
oINS | 378-24 CHoiE 1] 7 apzt =2 Bdts
o oINS | 378-24 0.70x0.25%0.10 1 A B} 2uA| S
oINS | 378-25 CHoIE 1] 7l ap SIA| HACH=
e oINS | 378-25 0.70x025%0.08 1] A Hp ZA| sHAC 2
NE | 378-24 SIS 1 7|
1067
oINS | 378-24 0.70x0250.10 1] M
oS | 378-24 CHIOIE 1] 7 &2t A A2
s oINS | 378-24 0.70x025%0.08 1] A =2 ZA| AlEl2
oINS | 378-24 CHIoIE 1] 71 &et SZA| pelZ
s oINS | 378-24 0.70x025<0.08 10 A &2} Z2uA| Alslz
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1072
oINS | 378-24 Er2| 0.70x0.25X0.06 1| 7K
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1073
OINE | 378-24 M 0.70%025%0.10 1| K Az SuA| AS
oINS | 378-24 20 CHRlofE 1] 7
1074
OINS | 378-24 BA 0.70%0.25%0.08 1| 7K
oINS | 378-24 20 ChEoE 1] 7 i R =
1075
oINS | 378-24 A 090%030%0.12 1| i Zlxal Qe el=s
OINE | 378-24 2g CiEofE 1] 7
1076
oINS | 378-24 BA 0.70%0.25%0.08 10 A
oINS | 378-24 =) CREoE 17| Zs 27| Moz
1077
OIAKE | 378-24 =AM 0.70x0.250.08 1 7H 215 SA| a2
oINS | 378-24 20 CiEoE 1| 7
1078
OINE | 378-24 =M 0.70%0.25%0.08 1| i
oIS | 378-24 22 ColiE 11 7l ' SIA| ME=Z
1079
OINS | 378-24 M 0.70%0.25%0.08 1| K ad SZA| MYE
oINS | 378-24 29 ChRloE 1] 7
1080
OINS | 378-24 7N 0.70x0.25X0.08 1| 7K
1081 | oINS | 378-43 2o ChYolE 1] 7 Zrt SZA| 822
1082 | oINS | 378-24 =] ChEolE 1] 7 adve SxA| 822
OINS | 378-24 29 ChEolE 1] 7
1083
OINE | 378-24 A 080%030%0.12 1| 7K
1084 | QNS | 378-24 =] CiYjolE 1] 7 a7 ZFA| LT KMz
OINS | 378-24 2o ChjolE 1] 7
1085 | QNS | 378-24 A 06000.400.10 10
oINS | 378-24 AN 0.75x0.450.15 1| 7K
1086 | oINS | 378-24 23 CHRloI= 1 7| Az 2oA| sl
1087 | oINS | 378-24 29 ChEolE 1] 7 Az SEA| SRR
oINS | 378-43 29 CHRlofE 1] 7
1088
oINS | 378-43 M 0.70%020%0.10 1| 7K
oINS | 378-43 2o ChEolE 1] 7 ol SZA| =
1089
OIMNE | 378-43 M 050%0.200.08 1| K Zl*o| 2RA| L2
1090 | oINS | 378-43 29 CRRlofE 1] 7
1091 | oINS | 378-32 == ChoE 1] 7 = SIA| 612
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OIS | 378-32 slok= H1.00 4 | F = 2hA| S512
OIME | 378-32 == CiRlofE 1| 7 = 2hA| s512
e OIMNE | 378-32 AN 1.200.80%0.30 1| 4 2= 2hA| s512
OIS | 378-3 =] EV=S 1| 7 = 2hA| sH512
e oINS | 378-32 A 1.200.80%0.30 1| K P\ 2nA| S#512
oINS | 378-43 Bz EPG[ES 1 7|
1004
OINS | 378-43 A 0.70%0.25%0.08 1| K
NS | 378-43 == (B 1 7|
1095
oS | 378-43 = 0.70x0.25<0.08 1 7H
QNS | 378-43 22 CIRIE 1 7|
s oINS | 378-43 A 0.70%0.25%0.08 1| K
1007 | QS | 378-43 2= EPGIES 1 7|
oINS | 378-24 2g CiRjofE 1 7|
e OIMNE | 378-24 A 0.70%0.25%0.08 1| 4
oINS | 378-R3 22 CIRIIE 1 7| oAl =N = =]
e oINS | 378-43 A 0.70%0.25%0.08 1| 4 2*Al 2UA| CPIER
oINS | 378-43 =] ChEoE L rau=3 47|z 22A| M2
100 | oINS | 378-43 M 0.80x0.250.10 1| = 0| AEA| TMCHR
oS | 378-43 AN 0.75X045x0.15 1| H s 20 |E ZEA| TACHE
oINS | 378-83 22 CIRII= 1 7| 25 0|z 2EA| IMDHZE
s NS | 37843 =AM 0.80x0.25%0.10 1 N 2= 0|z ZEA| M
oIS | 378-43 2= EPS(ES 1 7| 2=t ST SHZ
e OINSE | 378-43 =M 090%0.25%0.10 1| K adve SxA| S22
1103 | oiMS | 378-43 =] ChEolE 1] 7 adve SZA| 822
1104 | oINS | 378-43 22 CRRIE 1 7| s 2oA| Leba
oINS | 378-43 =] ChEoIE 1] 7 a8 SZA| AR
e OINS | 378-43 M 080%0.30%0.15 1| 4 2 2hA| A2
oINS | 378-43 =] CiEoIE 1| 7
o oINS | 378-43 A 0.60%0.20%0.06 1| K
oINS | 378-43 =) ChEoE L of% SZA| B2
o oIS | 378-43 A 0.80x0.25%0.10 1 M o4 2A| giZ=z
MS | 37843 2= CRRIE 1 7| oPZl E=2 XFHA XNS
e oINS | 378-43 HM 0.70x020x0.08 1 N O*Zl =2 X ARS
1109 | oMS | 378-44 =] CRRlofE 1| 7
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110 | oINS | 378-44 =) VS 1| 7
1111 | oINS | 378-44 =) VS 1| 7
OINSE | 378-44 =) CRRlofIE 1| 7
e OINS | 378-44 7N 0.70%0.25%0.08 10 A
oINS | 378-45 22 SRS 1 7| ] BA| AESoIZ
1113 | AMS | 378-45 A 0.70x0.25x0.08 1 7H | =IHA| AMSYZ
oINS | 378-45 AbM 0.75%045%0.15 1| 74 g SIA| PMSUZ
OINS | 378-45 ) TS 1 7| B3| 2| A2
114 | NS | 378-45 A 0.70%0.25%0.08 1| 74 e SZA| M2
oINS | 378-45 AN 0.75%0.450.15 1| gp3| 2| A2
NS | 378-44 = RGeS 1 7| spx Alok BAiT
o QNS | 378-44 =AM 0.70%0.25x0.08 1 N EIES Alok A
oINS | 378-43 =) CiEoE 1| 7
o oINS | 378-43 A 0.70%0.25%0.08 1| K
1117 | QNS | 378-43 =) CRRlofIE 1| 7
OINSE | 378-43 =) CRRlofE 1| 7
OIMNSE | 378-43 A 090%0.30%0.12 1| 4
118 | oINS | 378-43 AbM 0.90%0,60%0.20 1| 7K
oIS | 378-43 =2 240060 1 =
oS | 378-43 2= H1.00 3 =5
OIMNE | 378-15 =) ChEolE 1] 7 = SZA| gs2
e OIME | 378-15 M 080%0.25%0.10 1| K CIg=! SZA| 222
1120 | QNS | 378-15 Bg ChEoIE 1] 7 CTge S;A| gs=2
OIMS | 378-15 =) ChEoiE 1| 7
e OIME | 378-15 7 0.70%0.25%0.10 1| K
OIMNE | 378-15 =) VS 1| 7
s oINS | 378-15 A 0.70%0.25%0.10 1| K
NS | 378-45 Bz ChEloiI= 1 7|
s OIME | 378-45 A 0.60%0.20<0.08 1| K
OIME | 378-45 =) ChEoE 1] 7 Rt SxA| gs2
i pitls | 31845 N 070x025%010 | 1 | M | ®pt 23A| gez
QNS | 378-45 22 CIRlI= 1 7
1125
OINE | 378-45 =N 0.70%0.25%0.08 1| 4
OINE | 378-45 =) ChEolE 1] 7 o LIFEA| ORI
% NS | 378-45 =AM 0.70x0.25x0.08 1 N oo LIZA| O|RIEsRZ
NS | 378-45 == CRYoIE 1] 7 o= A 7 MAch=2
e OINE | 378-45 HA 0.70x0.25<0.08 1 7H = TZA| 27 Mellz
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oINS | 378-45 M 0.70%0.25%0.08 1| 74
1129 | oINS | 378-15 =] oS 1] 7
130 | NS | 378-15 =) Chalof= 1| 7 P S| AAEAR
A= | 378-15 Bz CIRIE 1 7| 2 XA 2NSAZ
e OIMS | 378-15 M 0.70%0.250.08 1| 2z SIA| AMEAZ
OIME | 378-31 =) VS 1| 7]
132 | olAs | 378-31 7 080%0.25%0.10 1| 4
oINS | 378-31 A 0.75%045%0.15 1| K
1B | s | 378-15 2= ClRlofl= 1 7| Epst 2| A
AT | 378-15 822 S =) 1 7] ET! SgA| A
e OIMS | 378-15 M 0.700.250.08 1| b5} 2TA| A
oINS | 378-15 22 CIRIE 1 7|
s oINS | 378-15 M 080025010 1| K
1136 | QNS | 378-15 Bz EPGIES 1 7|
137 | QiNs | 378-15 Ba ChEloiI= 1 7|
oINS | 378-15 22 CIRII= 1 7| #[*&} 0|z M| 2
1 oINS | 378-15 =AM 0.70%0.25%0.08 1 7H |5t 27 |= MLtA| 2ei
oINS | 378-15 =) EASVIES 1| 7l ME SZA| FAS
o OIMNS | 378-15 A 0.70x0.25%0.08 1| 7H Mz 2| 2=
OIME | 378-15 =) CRRlofIE 1| 7]
1140 | QNS | 378-15 7N 0.70%0.25%0.08 1 M
OIMNE | 378-15 A 0.75%045%0.15 1| K
1141 | NS | 378-15 =) CIEoE 1| 7]
OINE | 378-15 2g CIE= 1 7|
1142 | QNS | 378-15 M 0.70x0.250.08 1| i
OINE | 378-15 A 0.75%045%0.15 1 7N
OINE | 378-15 Ba ChEloi= 1 7|
3 | oINE | 378-15 =M 0.70x0.250.08 1| M
oINS | 378-15 = H1.00 1| F
oINS | 378-15 =) ChYoE 1| 7l =y SZA| MY
n OIME | 378-15 M 0.70%0.25%0.08 1| K = SIA| MYES
OIME | 378-15 =) CRRlofE 1| 7]
1145
oINS | 378-15 M 0.70%0.25%0.08 10 M
oINS | 378-15 2g CIRo)I= 1 7| oA Aol ofshS
s OINE | 378-15 M 0,60%0.250.08 1 oM Alolz olsfis
1147 | NS | 378-15 22 CIRIE 1 7
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1157
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oINS | 378-15 2o CHEOIE 1 7|
1158
oiME | 378-15 A 0.70x0.25x0.08 1| 4
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R oINS | 378-46 ARM 0.90x060x0.20 1 7H M 2| 952
172 | QS | 378-46 = ChEloiI= 1 7| M 2hA| 252
oINS | 378-46 22 CIRI= 1 7| M 2uA| 252
173 | QNS | 378-46 A 0.70%0.25%0.08 1| 4 M 2hA| 952
OIMNE | 378-46 AN 090060020 1| K M 2hA| 952
174 | Qs | 378-46 2= CIA= 1 7| PN DAl 252
1175 | QNS | A4 Bz RGeS 1 7| Apo} 2T AOIA| M
OIMS | AR4-1 2= RS GES 1] 7l s FZA| G2
176 | QNS | A4 A 0.70%0.25%0.08 1| 4 S 2| GAE
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OIMS | AR4-1 2 ChEolE L g Fok MES
77 | s | A4 =N 0.70%0.25%0.08 1| 4 ETES SolT AlstS
NS | A4 AN 0.75x0.45X0.15 1| A ETES 2ol AlSkS
AT | A4 B CholE 1] 71 g ok MBS
" oINS | AR4-1 TRR| 060x0.40%0.10 1| 74 EIES Sol Alske
1179 | S | A4 22 CIRoIE 1 7| o EAA| AJAR Sz
180 | oINS | Ak4-1 22 CrEoE 1] 7 o3 A AR STz
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20214 4 152 S5 J|l=1 2} l.—EPE B Ao o

He o4 IR}
;fg ES NN N =EF 7= 9 74 2 | B9 - ~
oINS | T18-7 AN 0.75%x045%0.15 1| 4 o4 S| HACHR 337842 23
1514 | oINS | T718-18 =) ChEolE 1] 7 = SZA| =2
1515 | QiMES | 718-18 =) Chlof= 1] 7 bl 2N 272
1516 | QMS | 718-18 =) Chalof= 1| 7 =+ SZA| H4S2
oINS | T718-18 =) CiRlofi= 1| 7 =+ SZA 42 6B
o OINE | 718-18 A 0.75x0.250.08 1| =+ SZA 42 @B
1518 | QNS | 718-18 =) ChEoE 1| 7 =l STA HSE R
oINS | T718-18 =] RS 1| 7l Elg=- QIMA| Q1L SHEO|Z 84842 29,
1519 | CMES | 718-18 A 0.75x0.250.10 1| 4 upe OIZIA| Q= 0|2 8482 29,
oINS | T718-18 S H150 2 | F upe OIZIA| Q=7 0|2 8482 29,
OINE | 7187 =) CrRlof= 1] 7
1520 | oINS | T18-7 M 0.75%0.250.12 1| K
oS | T18-7 AN 0.75%045%0.15 1| 7
1521 | Qs | 718-7 Bg EASVIES 1] 7
oIME | T187 =) TR0l 1] 7 & SZA| MSE
b oINS | T18-7 =N 0.70%x0.35%0.08 1| 74 5 2A| MEE
NS | T718-10 =) Chalofi= 1| 7]
1523
oINS | 718-10 =AM 0.75x0.25%0.10 1 7H
1524 | oINS | 718-10 25 CiEoE 1| 7
1525 | Qs | 718-11 2= ChEoIE 1] 7 s S2A| M=
1526 | Qitls | 718-11 =) ChRiolS 1| 7 s SIA| Mz
OIMES | AIR6-2 22 ChoE 1] 7 M STA| MEZ 238
e NS | AI26-2 oM 0.90%0.60%0.20 1| 74 M SHA| AHE 2384
oINS | 718-8 2a CiRjof= 1] 7
1528
oINS | T18-8 =N 080x0.250.12 1| K
oINS | T18-8 =) RV 1| 7
1529
OIME | T18-8 A 0.75%0.25%0.10 1| i
N A 22 mpv == 1 7 25t =IA| MBIE363
1530 | QNS | AR6-2 Q| 080%055%0.15 1| 74 2*3} 2hA| MSE363
AT | AI26-2 A 0.90%x0.600.20 1 N s} S| ABIE363
1531 | NS | A6-2 22 oS 1 7| =35t ZHA| ABIE363
1532 | QNS | M6-2 =) RV 1| 7 2*5} Z2uA| AlBH2363
NS | AR6-2 =) ChEolE 1| 7 2 S;A| SMZ
S oINS | ARB-2 =AM 0.70%0.25x0.08 1 7H = =IA| SSpi
AIME | AI6-2 =) oS 1| 7] at SZA| M4
1534 | QINS | AiG-2 A 0.75%0.25%0.08 1| i Tt SZA| 4
OIMNE | ARG-2 ARM 0.75%045%0.15 1| 4 23 2UA| A
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1535 | oINS | Ai6-2 B2g RIS 1| 7 =N PR ASES oz 602! 14
1536 | QIMS | A6-2 == S S(GIES 1 7| SN LA i SR 3ok 2
1537 | oiAkE | AR6-2 22 oS 1| 7 ELN| ZTEA| T B 31EHoR 2
1538 | QT | AR6-2 == TS 1 7 SN STA| T SAIE 3R 2
1539 | oINS | Ai6-2 2g RSV 1| 7] op& Z7|= QKA AET MEIZ 114
1540 | NS | ARB-2 22 EHElolS 1] 7]
1541 | oINS | 718-12 25 RIS 1| 7l
oS | Ai6-2 2o Chlolis 1| 7l &t SIA| MYES
1042 | IS | 162 A 0.75%0.25%0.10 1] A Z*x} SoA| ARE
S | LM6-2 o4 0.75X045x0.15 1 M Z*xt STA| ANE
OIS | Ai6-2 20 ESVIES 1| 7 s 2| slgA| SEREEIHZ 172 31,
b OINE | AiR6-2 M 0.75x0.25x0.10 1 M PALES 27| 3)MA| SERSICHZ 172 31,
1544 | QNS | AR6-2 22 RS 1] 2 s 27| 34| SEREICZ 172 31
1545 | QIS | 462 2= CHEoi= 1] 7 Hpe= =A| TEkHE
S | AR6-2 29 CHlIS 1| 7l gpgt FoIT AlSKS oz UHZl 8
1546 | OIS | Ai6-2 M 0.75x0.250.08 1 Clnl} oI ABKS oz Uizl 8
OINE | AiR6-2 AN 0.75x0.450.15 1| Clll oK AfSkS oz 3 8
oS | AR6-2 29 cioliE 1| 7l
1547
oS | Ai6-2 M 0.75x0.25%0.08 1
S | AR6-2 29 CHlIS 1| 7l &t SZA| MHS
ke OIAKE | ARB-2 =AM 0.75x0.25x0.10 1 7H 2R} SZA| MET
oIS | LAR6-2 20 CHlIS 1| 7 M ZSuA| g2l 15812
b OINE | AiR6-2 M 0.75x0.250.08 1| M 2xA| 822 1582
oS | Ai6-2 29 oS 1| 7l = SHA| A2 318
0 OIAE | ARB-2 A 0.70x0.25%0.08 1] A =+ ZmA| FME 314
oS | AR6-2 29 EASVIES 1| 7l wE SZA| 8ES
! OIMES | ARB-2 A 0.70%0.25%0.08 1| 4 = 2gA| 2o
1552 | QNS | 718-12 2g e 1| 7
1553 | oIS | T718-12 2g cholE 1| 7 &{*3} OIS MBS 22
1554 | OIS | ARB-2 2o R0l 1] 21| &y STA| ZMZ
1555 | QNS | AR6-2 =2 EhRolis 1|21 & SxA| ZM2
185 | QIS | LM6-2 =22 TS 1171 s XA JM=2
1557 | NS | AiR6-2 22 CiolE 1| 7l o= MEA| MET AMWE10 HEZ 40-3,
oIS | AR6-2 29 CRElolS 1| 7l o= MEA| MET AMWE10 HEZ 40-3,
e OINE | AiR6-2 =M 0.70x0.250.08 1| M opre MSA| MET AMDEA0 HIZ! 40-3,
IMS | A6-2 29 Py 1 7| el =IZA| HsIZ 1532 9
e IMS | A6-2 Er2s 0.70x0.25x0.10 1 IH ks 2TA| Il 153842 9
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202114 4% 152 2 Metd T =) $o30 T 5T
. o4Tx}
;:”g 2RR| | K| =gl 7= 4 74 w2k | Bl - N
ONE | A2 2 CHlolIE 1| 7
1560
oS | A6-2 =M 0.80x0.25%0.10 1| M
S | A6-2 2 CHlolE 1] 71 &3 S| 5= 1362
A QNS | AI26-2 N 0.60%0.25x0.10 1 N &5 ZuA| M52 13612
oIS | AR6-2 22 CHEloS 1| 7 e L= NSA| 2AZ 12
b oS | AR6-2 M 0.70x0.25%0.08 1 M ELES 0|z AISA| SAHZ 142
1563 | QNS | AHO-3 2= TS 1 7|
OIS | AHO-3 2o R0l 1| 71| ebg LAl s Zezd 21-31
s oINS | 4HO-3 =N 040%0.25%0.08 1| 7K 3| LIFA| s 2812 21-31
OINS | AHO-3 g CHEolS 1|7
1565
oS | AHO-3 A 0.30%0.200.05 1] A
1566 | OIMS | AHO-3 =) CHIOIS 1] 7l
OIMS | AHO-3 22 EAES 1] 2 Bp4t SEA| M= 78812
s oINS | 4HY-3 = 0.70x030<0.10 1] A HpAL ZA| Mo 7822
1568 | QNS | AHO-3 2 CHolS 1| 7 PA ok RS d=2
oS | AHO-3 22 CHoIS 1] 71 = ZETA| AS2 4582 13
1569 | QIANS | AHO-3 AN 0.90x060%0.20 1 M = SA| MS2 4582 13
oINS | AHY-3 2= H2.00 1 F = STA| ME2 4582 13
oS | AHO-3 22 CHRlolIS 1] 71
1570
oINS | AHMY-3 A 0.70x0.25%0.08 L
1571 | QS | AHO-3 22 TS 1 7|
oIS | AHO-3 22 RS 1| 7 e SHA| o= 87
e oIS | AHO-3 12 050020%0.10 1] A ool ST hll= 8rez
IS | A6-2 22 RS 1] 71
1573
IS | AI6-2 =M 050x0.300.15 1| M
OINE | A2 2 CHlolE 1| 7
1574 | oINS | ARB-2 7 0.80%0.25x0.10 1 7K
OIS | ARB-2 Al 0.75%0.45%0.15 1| 7K
IS | A6-2 22 CHoIS 1] 71 Al Sz Heofoted
o IMS | A6-2 =N 0.75%0.25x0.10 1 N 2*Al 2| oz
1576 | QNS | A26-2 2= CHEIE 1 7|
1577 | QNS | AR6-2 2 CHloliE 1] 2
1578 | QNS | Al26-2 22 CHOIS 1] 7l FA-) Y IS =EF=T
OIS | 262 =) ChEjofE L B =TA| Solts
1579 | QNS | Al26-2 £ 0.80%0.25%0.10 1 M A =T/ SlS
OINE | ARB-2 A 0.75x045%0.15 1 M A =/ SlS
1580 | QNS | L16-2 = CHlolE 1| 7

- 224 -



Ae3o T EY A2t I—EPE T H 20214 4 15Y =Y
s AR}
;:”; ARR| | K| =oIEF 7= Y A 2k | C o ~
oINS | AR6-2 Er2N| 0.70x0.25%0.08 1| 7K
1581 | QNS | A6-2 2= EPS(ES 1 7
AT | AI26-2 2 TS 1 7 (ol = s ol =SFEEE
e OIS | AR6-2 M 0.75x025x0.10 1| M orE T site 2ensz
1583 | OIS | ARB-2 2o R0l ]
1584 | oINS | ARB-2 22 CHlols 1| 7]
NS | AIRG-2 2 EHElolS 1] 21| ors S;A| AB2 113
s OIS | AR6-2 M 0.75x025%0.10 1| 7K op< STA| AE2 113
1586 | QiAKE | AR6-2 Bg CHEloS 1| 7
oIS | AR6-2 22 CHElIS 1| 7 oFs 27| RIA| ol A2 280812
e oINS | AR6-2 Q| 0.60x040%0.12 1 N ops 20| A FO? = 28932
1588 | OIME | T718-19 B2g CHElolS 1| 7 o5 20| Al FO = 28932
1580 | QNS | 71819 ] CHElOlS 1172 &= oK MBS ol 6031Z! 14
150 | QIMS | 718-19 2 CHElolS 1| 7 =g} oK AlSkS oMz 60 14
OIS | T718-19 Bg CHolIS 1| 7 o= SIA| ASZ 113 MRASI0[L
I oINS | 718-19 =AM 0.70x0.25%0.08 1 7K o= 27A| AIS2 113 MQ2R[S10 (2
OIS | ARB-2 2o Chzlofi 1] 7l
oINS | AR6-2 M 0.80x0.25%0.10 1| 7K
b NS | ARB2 | HEEM H1.00 4 | F
OIS | AR6-2 AN 0.75x045%0.15 1| K
ANT | AI26-2 22 TR 1 7
1568 OINE | ARB-2 THERH| 0.30x0.25%0.25 1| 7H
OINE | 262 2o Chelojls 1] 7
e INT | M26-2 24| 0.60<0.30<0.12 1 7H
OIMT | AHO-3 2= EPS(ES 1 7
s OIS | AHO-3 ET2N| 0.70x025%0.12 1| K
NS | 4HO-3 22 EPS (e 1 7
0 OIS | AHO-3 A 050x020%0.10 1| K
NS | 4AHO-3 22 TS 1 7
r oINS | AHO-3 M 0.75x025%0.10 1| K
1508 | QNS | T718-19 2 CHEloIS 1] 7
1509 | QIMS | 718-19 g S 1| 7
oINS | T718-19 B2g CHlIS 1| 7
e OINE | T718-19 M 040%020%0.10 1| 7K
1601 | QNS | 718-19 2o CHlIS 1| 7
oS | AMO-3 =] e 1| 7
s OIS | AHO-3 =M 0.75X0.25%0.05 1| K
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202114 4% 152 S Z gLt & =] Moo S E RS
He o4 IR}
;fg ARR| | K| =OIEF 7= Y 4 2k | C o ~
s | Lho-3 22 ol 1] 71| &= STA| SN 4091 42,
1603 | QiANS | AHO-3 =y 0.75%0.250.10 1| M i SUA| SAZ 4082 4-2,
IMS | 4AHO-3 A 0.75%0.45%0.15 1 N Sk SIA| SAZ 402 4-2,
oINS | 4HO-3 2= == 1 7| o 2yA| golE
e s | LH9-3 = 0.75x025%0.08 1] A zt 2A| 82
1605 | QA | AHO-3 2o CHElolS 1| 7
1606 | QiME | 718-19 22 CERoIS 1 7|
oINS | T718-19 Bz CHRIo|E 1 7| 215} 21A| s 105812
o AINT | 718-19 A 0.70x0.25%0.15 1| 7H 23t 2IA| slol= 105842
1608 | QNS | 718-19 22 CHEolS 17| &= 0L Al ol 60M1Z! 14
1600 | QIAKE | 718-19 2o CHElol= 1| 7
S | A2 22 TR0 1|71 ors 2| SR TRl M= 2892
o OINS | AR6-2 A 0.75x025x0.10 1 IH ops 27| 2=8IA| FOITL Al 28042
NS | 718-1 22 CRI= 1 7| g5 DA Al 113912
oS | 7181 Q| 0.75x050%0.15 1 M Hp3 2UA| ABlE 1132
o oINS | T18-1 AN 0.75x045%0.15 1| 4 Tl 2gA| M 11342
oS | 7181 ARt 210x130%0.25 1| ¢ El] BuA| AlBIE 11342
NS | 718-12 2o CHRlofl= 1| 7
o oS | 718-12 M 090030%0.10 1| N
IS | 718-12 g2a Clzlof= 1 7|
1613 | QNS | 718-12 =y 1.10%0.35x0.15 1| M
oINS | T18-12 Y+ H150 2 | i
NS | T18-12 2 VS 1| 7
o oS | 718-12 M 0.70x025%0.12 1| H
NS | 71812 22 CH0E 17| o= 2= HYFA| S12 30
1615 | QNS | 718-12 =y 090x0.30%0.12 1| M Hp |z A HE12 30
oINS | T18-12 HHolS H10.00 1| F S | A HE1E 30
oINS | 7181 22 CIRoIE 1 7| gkl =2xA| sfolz
1616 | OINS | 7181 7 0.900.300.12 1| Hpol 21| sfelz
oS | 7181 = 0.90x0.60%0.20 1] A Hpof =3A| o2
NS | 7181 Bz CHElOIZE 1 7| Hpol =mA| sz
1617 | QMs | 7181 =2 090x0.30%0.12 1| M apol =2 sfelz
oS | 7181 o4 0.90x060%0.20 1| M Hpol 23| slolz
AME | LI6-2 22 CIEOIE 1 7
o NS | Li6-2 =N 060x0.25%0.10 1| M
1619 | oINS | LR6-2 2 VS 1| 7
1620 | QS | AI26-2 2 CHElOIE 1 7|
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;fg ARR| | K| =OIEF 7= Y 4 2k | C o oy
oIS | AR6-2 =M 050020 %0.08 1| M
1621 | QNS | 718-1 2 CHRlolS 1| 7 ESsly M| T ABECHR 216242
oINS | T718-13 22 oS 1| 7l e Tt I QIS CiAi2| 12
162 | oINS | TIB13 | B H1.00 7| F | 2= Fet ele eles thAlR| 12
oINS | 718-13 ST H1.50 1 F 2 et et =S ] 12
1623 | QIME | T718-13 == CHoIS 1| 7 2 Tt e =S cihE] 12
1624 | QNS | T718-1 22 CHloI= 1| 7l a2 Tt ele =S cAlz| 12
alts | T8 22 Chlol% 121 | =3 =uA| YAEO)E 87
ks oINS | T718-1 =AM 0.70x0.25x0.10 1 7H 245 SaA| YIAESlZ 87
1626 | QiMs | 7181 = CHoS 1| 7l E W= M| 22
1627 | QNS | Li6-2 22 tRoliE 117l =4 S| gs2 26892 15
oINS | 718-19 =) CHoIS 1| 7 = |z ERIN| Mol ZIZES 293-6
ks S | 718-19 =N 040%0.200.10 1| M Rirct 7= 8RIA| MRl ZIZES 293-6
1629 | QIMS | 718-19 22 CHElolS 1] 2 et 27| SR MRl ZIZFEE 293-6
oINS | 718-19 22 CHelolis 1| 7l 27| ZZA| BHACH2
e oINS | 718-19 A 0.70x0.25%0.08 1 | 7H =*7| 2gA| Az
1631 | QIME | 718-19 2g P TES 1| 7 x4+ oligtz sli=hs P I=79-18
1632 | QNS | T718-19 22 RS 1| 7 g olitz shi=hs P I=79-18
1633 | QiME | T718-19 =g P TES 1| 7
1634 | QiME | T718-19 =g P TES 1| 7
oIS | 71819 = EAES 1] 2 o E 27| A FET 0lelS
b oINS | 718-19 k=2 0.80x0.30%0.15 1| M & 27| A QET 0lalE
1636 | QiMS | 718-19 Bg CHEloIE 1| 7
1637 | oINS | 718-19 22 CHRloS 12| 28 T MT Skl 710812 20
NS | 718-19 Ea Clalo= 1 7|
1638
oINS | 718-19 =M 0.80x0.30%0.15 1| M
oINS | 718-19 22 CHelolis 1| 7
1639
oINS | 718-19 M 0.30x020%0.10 1 N
1640 | QNS | 718-19 22 oS 117l s SIA| sig= 22782 11-1
oS | 718-19 22 tRoliE 117l s S| sig= 227842 11-1
o OINE | 718-19 =M 0.75%0.25%0.10 1 7H 25 23A| slE2 227842! 11-1
1642 | QNS | T718-19 2g P TES 1| 7
oINS | 718-19 22 CHelolis 1] 71 o ZTA| HATHR 337842 23
1643 | QNS | 718-19 =AM 0.75%0.25x0.10 1 N oI5 ZILA| BHACHE 3372 23
S | 718-19 4N 090x060x020 | 1 | 7H o SHA| HHACHZ 337442 23
1644 | QIMS | T718-19 22 CHIOIS 1| 7 o5 STA| HHATHS 33722 23
1645 | QIME | 71819 22 CHlolS 12| 28 A MT BhefThR 710812 20
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1646 | QNS | T718-19 2g CIEoS 1| 7
1647 | QNS | T718-19 =) CIEoE 1| 7
oINS | 718-19 Ba CHRIE 1 7| N = AT Z=2 {00,
8 OIME | 718-19 7N 0.70%0.25%0.08 1| 4 ELE T M7 FF2 100,
OIMES | AR6-2 e EPGES 1] 7 ofs S3A| eHACZ B7HE 23
b IMT | M26-2 = 0.60<0.30<0.08 1 74 ol ZIA| BHACHE 337842 23
1650 | QNS | A6-2 =) CRRlofE 1| 7 = SuA| MEZ 23842 10,
OIMES | AR6-2 =) ChEolE 1| 7
1651
NS | ARB-2 A 0.70%0.30<0.05 1| 4
oINS | 7181 =) EESGES 1| 7
1652
OINE | 7181 A 0.75%0.25%0.10 1| K
1653 | oINS | 718-19 =) ChEoIE 1] 7 e SZA| 4
oINS | T718-19 =) CHEoE 1] 7 Zlxal STA| A
e oINS | T718-19 A 040%0.25%003 1| 4 bl SEA AS
oINS | T18-19 =) RS GES 1| 7 ad SZA| &S
b oINS | T718-19 A 0.75%030%0.10 1| N Falgel SZA| &S
OIMS | T18-19 gz EPGES 1] 7 e FIA| NS
1656 | QNS | 718-19 | 0.65%045%0.15 1| 4 = 2TA| OINE
oINS | 718-19 Al 0.70x050%0.15 1| 7H = 2IA| OIS
1657 | QNS | 718-19 =) CHElOIE 1| 7 = 2IA| OIMNE
oINS | T718-19 =) ChYoE 1| 7 shE FA| MT FSS
e oINS | 718-19 A 0.75%0.25%0.10 1 7H sz LA M7 255
1659 | QNS | 659-7 =) CiEoE 1| 7
1660 | QINT | 659-7 2= P GES 1] 7 A S| YNFEZ 25
oINS | 659-7 =) ChEoE L o[zl SEA| HASAZ 108
ks oINS | 659-7 A 0.70%0.30%0.10 1| 7K o[zl SEA| HASAZ 108
oINS | 659-7 =) RS GES 1] 7
1662 | QNS | 659-7 A 0.75%0.25%0.10 1| K
ONT | 659-7 A=A 240130045 1 E
oINS | 659-7 ) CRYoIE 1] 7 o ZFA| M SR
b oINS | 650-7 e 0.70%0.25%0.10 1| 7K o A M SR
oINS | 6597 g2 CIEolE 1 7| =%} ZTA| A=
oS | 659-7 =M 0.75%0.25%0.12 1 7H =*X} 2uA| AKE
oINS | 659-7 A 085%045%0.10 1| K Z=*x} SZA| 4
e OIMS | 659-7 =N 240050 1 | Z=*X} SZA| &S
oINS | 659-7 T H150 5 | F Z=* Rt SZA| 4
oINS | 650-7 EZ H150 3| F Z=* R} SZA| &S
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oINS | 6597 | BT H1.50 1] 5| = ST 48
OINS | 718-19 29 Chlolis 1| 7l gp SHA| CHY= 81eiZ
10 OINE | 718-19 ==Cl H2.00 2 | F Hpa Z23A| Ciz 81z
1666 | QIMES | 718-19 2g CHElol|= 1| 7 28 MEA| MET 2mAZ90
1667 | oINS | T718-19 2g RSV 1| 7] ors STA|
oINS | 718-19 2g CiiolS 1| 7 ors STA|
108 NS | 718-19 M 0.70x025x0.10 1| op= 2uA| Liodzl
0 OIS | 718-19 2o Cilof= 1| 7]
oINS | 718-19 M 0.70x0.250.12 1
oIME | 718-19 == TS 1 7 A ME FHT SSFTAMZE 112 40,
NS | 718-19 =N 0.80x0.250.12 1 PN M YHT 2=ZOMZ 112 40,
1670 | OIS | 718-19 ARM 0.90%0.600.20 1 ZIAl M YHT S=ZOMZ 112 40,
oINS | 71819 | ARISEAM | 240x130x050 | 1 | E | 2N MS SR SETAMZ 112 40
OINS | 718-19 o] H0.30 10 ZIAl M YR 2=ZOIMZ 112 40,
oINS | T718-19 =l RS 1| 7l 25 MEA| MET 2EAZ90
o oIS | T18-19 A 0.60x0.25%0.10 1] A 245 MSA| MET QmiAZ90
oINS | 718-19 20 ESVIES 1| 7 Z+4l Mg i 55 UM
ore OINS | 71819 | ARISEIM 240%130%050 1| ¢ 4 Mg T 55 SAME
oINS | 718-19 g2 SRS 1 7| Z2I*Al MNE QKT 2= M2
OINS | 718-19 =M 0800250.10 1| A Al Mg T 55 UM
1673 | QNS | T718-19 AN 0.90X0.60X0.20 10 A A Mg T B5 UM
OINS | 71819 | ARISHIM 240%130%050 1| ¢ 4 Mg i 55 M=
OINE | 718-19 5 H0.30 1 IH 2I*Al ME AT 2= ZUMZ
oINS | 718-19 2g ChilolS 1| 7 Z+Al Mg i 55 SAME
o OINS | 71819 | ARISEIM 240x130%050 1| ¢ 4 Mg T 55 UM
oINS | T18-19 2z (B 1 7|
1675
oINS | 71819 A 070X030x006 | 1 | 7H
oINS | T718-19 20 RIS 1| 7] =R} SZA| AS
o NS | 718-19 =M 0.75x0.250.12 1 =R} 2uA| A
oINS | 718-19 == CIRIE 1 7|
1677
oINS | T718-19 M 0.800.300.10 10
OIAIE | 659-7 o ChRloiI= 1 7| o[*g] S| WA=
o oINS | 659-7 Q| 0.600.40<0.12 1| o[*s| SIA| SHACHS2
1679 | QIS | 659-7 2o Chlofl= 1| 7]
OINS | 659-7 20 CHElol|= 1| 7
1680
OINS | 659-7 M 0800.300.10 1| M
1681 | QIS | 659-7 = =S 1| 7l e XA $E2
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OINS 659-7 M 0.80x0.25x0.10 1 74 = =ZA| FE2
1682 | oINS 659-7 22 S S(GIES 1 7|
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OINE | 659-7 7 0.70x0.250.08 1 7K
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20214 4% 15 =2 Zd E_I-IEI'E m Ao o - = RIS

Ho SN
;TT: EVN NI PN =105 = 2 74 2k | T
== Ay T
NS | 659-7 HA 0.40x0.20<0.10 1 N
oINS | 659-7 Ba S 1 7|
2019
oINS | 659-7 ErN 0.70x0.30<0.10 1 IH
oINS | 659-7 Ba SIS 1 7| Ee] LAl s 2eid
2020
oINS | 659-7 A 050x0.30<0.10 1 7H S LITA| s 2eid
2021 | oIS | 659-7 Bz Calo|E 1 7|
IS | 659-7 B ClRlofl= 1 7|
2022
oINS | 659-7 A 0.90x0.30<0.10 1 IH
oINS | 659-7 Ba ClRlof= 1 7
2023
oINS | 659-7 A 0.70x0.25%0.10 1 IH
oINS | 659-7 BEx Clzlofl= 1 7|
2024
oIME | 659-7 HA 0.70x0.25%0.10 1 IH
oINS | 659-7 Ba CIRloE 1 7
2025
oINS | 659-7 HA 0.600.25%0.10 1 IH
oINS | 659-7 Ba Clzlofl= 1 7|
2026 | WS | 659-7 HA 0.70x0.25%0.10 1 IH
OINE | 659-7 ErN 050x0.30<0.10 1 IH
oNE | 659-7 EQ SIS 1 7| ApeLt FZA| M=
2027 | o= | 659-7 Fr 1.00x0.30%0.15 1 7H AL} ZTA| Moz
oINS | 659-7 AR 0.75%050%0.15 1 7H AL 2| Az
2028 | oS | 659-7 == EPSG(ES 1 7| APt =IZA| Moi=
NS | 659-7 EQ = S =) 1 7| = ME SHET Aot =z
2029
OINE | 659-7 Fr 0.70x0.25<0.08 1 7H 2 ME SHET Jot =
oINS | 659-7 BEx ClRlof= 1 7|
2030
oINS | 659-7 A 0.70x0.25%0.10 1 N
oINS | 659-7 Ex o S =) 1 7| 2p MBA| Z=AIRS OlE{2i20-4
2031
oINS | 659-7 =AM 0.80x0.30<0.10 1 7H s MBA| Z=AIRES OIE{Zi20-4
oINS | 659-7 = I S(GIES 1 7 g MIBA| Z=R[E olEZ20-4
2032
S | 650-7 A 060x0.20x0.15 1] A Hp MBA| ZX[2IS OIE{Z120-4
oINS | 659-7 BEx Clzlofl= 1 7
2033
oINS | 659-7 A 0.70x0.25x0.08 1 N
oS | 659-7 Eo S 1 7| = BN |SSH=MOE527HZI80
2034
oINS | 659-7 N 0.600.30<0.10 1 7H PALES R0|A|7 | BT =AY ZE27HHZ180
2035 | oIs | 659-7 Ba I S(GIES 1 7| = BT |S7SH=MOE527HZI80
2036 | oWIE | 659-7 Ex ES(GIES 1 7| P BRI |S7SH=HOE527HZI80
oINS | 659-7 g2 CIRloIE 1 7|
2037
oIME | 659-7 HA 0.70x0.25<0.08 1 IH
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659-7 == oS 1 7
2038
659-7 A 040%0.20x0.10 1 74
659-7 22 S GE 1 7|
659-7 =M 060%0.30x0.10 1 74
659-7 Bz CIAoE 1 7|
659-7 = 0.30%0.15x0.10 1 74
659-7 == = 1] 7l =g SmA| YA 5081214
S | 659-7 M 0.75x025X0.12 10 7=+ S2xA| 2AlZ 50812114
oINS | 6597 B2 TS 1 7| Al ST M2
oINS | 659-7 M 0.75x0.25x0.12 1 H AlEf SA| YAz
oINS | 659-7 2 (B 1 7|
oIME | 659-7 A 0.70x0.25%0.10 1 74
A= 659-7 == ERRIE 1 7|
WS 659-7 = 0.50%0.20x0.10 1 74
WS | 659-7 22 TS 1 7|
oS | 659-7 = 0.50x0.20x0.10 1 74
oINE | 659-7 == (B 1 7|
NS 659-7 = 0.75x0.30%0.10 1 74
NS | 659-7 == CERoIS 1 7|
oINS | 659-7 A 0.70x0.25x0.10 1 7H
oINS | 659-7 ) CIEolE 1 7|
oINS | 659-7 A 0.70%0.25x0.08 1| 4
NS | 659-7 22 = 1 7|
HMS | 659-7 = 0.70x0.25%0.10 1 74
NS | 659-7 2= = 1 7|
oINS | 659-7 2= CIEoIE 1 7|
NS | 659-7 ) P 1 7|
ANE | 659-7 g2 TS 1 7|
AT | 659-7 2= CHEoE 1 7 &t TEA| 582
NS | 650-7 A 075X030x012 | 1 | 74 | zs 2uA| 252
NS | 659-7 22 CH0IS 1 7| 2ol EZA| HeHZ 528
AT | 659-7 == CHEE 1 7| & SOk S0k HH=0kA
OINE | 659-7 2= === 1 7| Zt*of =HA| HeHZ 5284
oS | 659-7 Q| 0.90<0.60%x0.20 1 IH ~*of SHA| oM Z 526
NS | 659-7 2= e 1 7|
NS 659-7 A 0.70x0.25x0.08 1 74
659-7 == RS 1| 7 215 A= O3FA| AR 77-17
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oINS | 659-7 M 0.70x020%0.15 1| K ZI*s A= oAl AEZ T7-17
NS | 659-7 2o CHolS 1] 71| e MEA| St o222 122
2060
OINE | 659-7 s 0.70x0.25x0.10 1 7H ELET| MEA| ECi27 0|22 122
oINS | 659-7 22 SRS 1 7|
2061
oINS | 659-7 2| 0.70x025%0.12 1| 7K
oINS | 659-7 =) ChRlofE 1| 7
2062
OIME | 659-7 M 0.70%0.30<0.08 1| K
2063 | oINS | 659-7 ) = 1 7|
OINE | 659-7 Ba = 1 7|
2064
oINS | 659-7 A 0.75x0.25%0,08 1| K
oINS | 659-7 Eg SRS GIES 1 7
2065
OIME | 659-7 A 0.70x0.25%0.10 1| 7K
OIME | 659-7 =) ChoE 1| 7
2066
OIME | 659-7 M 0.70%0.30<0.08 1| K
2067 | OIS | 659-7 =] CholE 1] 7 e 27| QRIA| S Slol=Z 46
NS | 6597 22 CIRII= 1 7| Lp 2TA| M2 303-3, SojokIE
2068 | oiNZ | 659-7 7 1.60X0.20%0.12 1 7 L SBIA| AlBIZ 303-3, SopolE
NS | 659-7 A 0.90x060x0.20 1 7H L= S2aA| ABlZ 303-3, SojolmiE
OIME | 659-7 =) ChYoIE 1| 7
2069
OIME | 659-7 | 0.90%0.60%0.20 1| K
oINS | 659-7 Bq = 1 7|
2070
oINS | 659-7 M| 0.60%040%0.10 1| i
A7 | oINS | 659-7 =] ChElolS 1] 71| s STA| M2 40HZ
NS | 650-7 =l CrRiofE 1| 7 M2 STA| BE212 MMA
2072
oINS | 659-7 A 0.70x0.25%0.10 1| 7H M= =EA| FE212 AMA
oINS | 659-7 Ea Clalof= 1 7|
273
oINS | 659-7 M 0.70%0.25%0.12 1| i
2074 | NS | 659-7 =) CRRloflE 1| 7
oINS | 659-7 Eo S PSIES 1 7|
2075
oINS | 659-7 M 0.70x025%0.10 1| 4
oINS | 659-7 =) CRRjoflE 1| 7
276
oINS | 659-7 M 0.75%025%0.10 1| 4
077 | OIS | 659-7 =) CHRlOIE 1| 7
OINE | 659-7 Ba = 1 7|
2078
oINS | 659-7 A 0.75x025%0.10 1| K
oIME | 659-7 B CRlof= 1 7| 2= ZuA| 52 209
2079
OIME | 659-7 BA 050x0.200.10 1| i FA= 2mA| HS2 209
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OINE | 650-7 =) RIS 1] 7 =gt MEA| =27 SiEHAZ 480,
20 OIS | 659-7 M 0.75%025%0.10 10 Z*t MEA| 7 SIEtHAZ 480,
NS | 650-7 2 CrElolS 1] 7l 85 2TA| Hal2 153412 9
28 OINS | 659-7 7N 0.70%0.30%0.10 1 Tk} SuA| HalZ 153412 9
2082 | QNS | 659-7 =) RSV 1] 7
2083 | QIS | 659-7 =) CiiolS 1] 7
NS | 659-7 29 EPS(ES 1 7|
2084
OINE | 650-7 =y 0.75x0.30x0.10 1| 4
NS | 659-7 =) EASVIES 1] 7 o[7| SHA| AS2 13
o oINS | 659-7 =M 0.75%045%0.10 1| K o[*7| STA| MS2 13
2086 | QNS | 659-7 =) ESVIES 1| 7] of7| SIA| A2 13
OIME | 659-7 =) RSV 1| 7l o[7| SEA| MS2 13
o oINS | 659-7 =AM 0.70%0.250.08 1 N o*7| =TA| MSE 13
oINS | 659-7 Bg ChYoE 1] 7 o[7|
28 OINS | 659-7 A 070025008 1| 7H o[*7|
oINS | 659-7 2= ChoE 1| 7l PN} SZA| ol 7
0 OIS | 66597 N 050%0.25%0.10 1] i &t Al ek 7
OINE | 659-7 =] oS 1| 71 &t SEA| dord 7
0 OINE | 659-7 M 0.75x0.250.10 1| K A 2uA| 512 7
OINS | 650-7 =] choliE 1| 71 s SEA| PUEFER 25 2RlopE
1 oINS | 659-7 M 0.75%025%0.08 1| B 2UA| YAEERZ 25 ZlolofmE
oS | 659-7 =) oS 1] 7
202 | S | 659-7 =N 0.75x0.250.10 1| K
oINS | 659-7 2 H3.00 1| F
OINE | 659-7 =) RV 1| 7
0 oINS | 659-7 A 0.90x0.30<0.15 1 7H
209 | OIMS | 659-7 =) Chlolis 1] 7
NS | 659-7 Bg ChoE 1] 7
20%
oINS | 659-7 TN 0.60x0.30%0.10 1| K
OIME | 659-7 =) RSV 1] 7
20%
oINS | 659-7 A 0.70%0.30%0.10 1| K
OINE | 650-7 =) ChEoE 1] 7 M 2RA| U222 HALTA
7 NS | 659-7 M 1.00x0.35%0.15 10 M 2A| Y22 2 HALTA
2008 | OIS | 659-7 2= ChYoE 1] 7
NS | 659-7 =) ChEoE 1] 7 e SZA| 52 209 AIRHIXIA
o oINS | 699-7 A 0.90%0.30<0.12 1 74 =2 2| HS2 209 Alok|x|A
2100 | oS | 659-7 829 == 1 7| org =ZA| SMZ 16242 18
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NS | 650-7 A 0.70x0.25x0.08 1 7H o< SHA| FAZ 162 18
OIMNS | 659-7 ) = 1 7
2101
OINE | 659-7 A 0.70x0.30x0.10 1 7H
ONT | 659-7 2= TS 1 7 S MEA| 2 tiXIS 983-3
2102
AMS | 6597 2| 0.70%x0.40%0.15 1 N Hps MEA| ZH2 L= 983-3
OINE | 659-7 Ba = ES 1 7|
2103
OINE | 659-7 A 0.70x0.25x0.10 1 7N
OINS | 659-7 ) TS 1 7| Lol Fokt AlEkE Hl= 250842 60,
214
oINS | 659-7 =AM 0.70%0.25x0.10 1 N M Bol Alsks ol 250812 60,
oINS | 659-7 22 == 1 7
2105
oINS | 699-7 = 050%0.20x0.10 1 74
oS | 659-7 23 EPS(ES 1 7| ShAl ZV|= QI TIoKE TIotZ 49,
2106
oINS | 6597 =M 0.80%0.30<0.10 1 N Al Z47| QIQA| DIk OOt 49,
2107 | QiME | 659-7 B CIA= 1 7|
oINS | 659-7 22 == 1 7| ol STA| S22 MALSA
2108
oINS | 659-7 A 0.70x0.25%0.10 1| 7H ore 2| U222 HMALISA
2109 | QNS | 659-7 ) CHRlOIE 1 7
oINS | 659-7 22 TS 1 7|
2110
oINS | 659-7 e 0.90%0.30x0.12 1 7H
oINS | 659-7 ) = 1 7|
" NS | 659-7 =M 0.70%0.30x0.10 1 74
OIAE | 659-7 SR H3.00 1 =
OINES | 659-7 === H2.00 2 | =
oINS | 6597 22 CIRIIE 1 7| 2= BT Al
2112
NS | 6597 A 0.40<0.15<0.08 1 7H 2= SHET Al
oINS | 659-7 ) TS 1 7
2113
OIMNS | 659-7 A 0.30%0.20%0.08 1 7H
NS | 659-7 ) CIEoIS 1 7|
2114
oINS | 659-7 A 0.90<0.60<0.20 1 N
oINS | 659-7 gz CIRolI= 1 7|
NS | 6597 2| 0.60040x0.12 1 7H
215 | oINS | 659-7 A 0.75%045x0.15 1 7H
OIAE | 650-7 ShiF H150 1 ES
oINS | 659-7 KM= H1.00 1 ES
oINS | 659-7 22 == 1 7
2116
NS | 659-7 A 0.70x0.250.08 1 7H
2117 | QNS | 659-7 22 S GES 1 7| 20| =EA| M2 T
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oINS | 659-7 e 0.75%0.25x0.10 1 7K 20| 2| Azl2 7
QNS | 659-7 A 0.75x045x0.15 1 7K 20| 2| Azl2 7
2118 | QNS | 66597 22 CREoIE 1] 7 L SIA| A2 28
OIMS | 659-7 =] CRYoIE 1] 7l
2119
OIME | 659-7 Q| 060x040%0.10 1| K
OIS | 659-7 =] ChEoE 1] 7
2120
oINS | 659-7 M 040%0.20%0.10 1| 4
oINS | 659-7 =] CIEoS 1| 7
2121
oINS | 659-7 A 0.75%0.25%0.10 1| 7H
A2 | NS | 659-7 22 CIAoE 1 7|
OIMS | 659-7 22 EPGES 1] 7l
2123
OIME | 659-7 2| 0.30%0.15%0.10 1| K
oINS | 659-7 =) ChEolE L
2124
OIS | 659-7 Q| 060x040x0.15 1| K
oINS | 659-7 =) ChEoE 1] 7l
2125
oINS | 659-7 Q| 060x040x0.15 1| K
OIS | 659-7 =] CRRloE 1| 7
2126
oINS | 659-7 M 0.70x0.25<0.08 1 7H
2127 | OIMS | 659-7 =) CiEoIE 1] 7
oINS | 659-7 =) ChEoE L
2128
oINS | 659-7 Q| 050%0.30%0.10 1| 4
2129 | QNS | 650-7 22 CHoliE 1] 7l
2130 | NS | 659-7 =] CRYoIE 1] 7
oINS | 659-7 2= CRYoIE 1] 7
2131
OINS | 659-7 =N 0.70%0.25%0.10 1| 7K
oINS | 659-7 g2 CIEolS 1| 7
2132
oINS | 659-7 A 0.75%0.25%0.10 1| 4
OIMNE | 659-7 =] ChEolE 1] 7
2133
oINS | 659-7 =AM 0.75%0.25%0.10 1 | 7H
OIMNS | 659-7 2= ChEoIE 1] 7 =N SZA| SPIF= 13812 9
2134
OIME | 659-7 Q| 060x040x0.12 1| 4 ESS 2UA| EYIFE2 13812 9
oINS | 659-7 =] CiEolS 1| 7
213%
oINS | 659-7 Q| 060x040x0.12 1| 4
2136 | OME | 6597 = CHElOIS 1 7|
NS | 6659-7 22 CRYoIE 1] 7 Aol MEA| =7 MEIS
2137
oINS | 659-7 "M 0.70x0.25%0.10 1| 7H M*ol MEA| MET M=
2138 | QNS | 659-7 B EPGES 1| 7
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2139 | oINS | 659-7 =M 075%x025%010 | 1 | 7H
OIS | 6507 | mEEM H2.00 6 | =
oINS | 650-7 e CHEolS 1|7
2140
CNE | 659-7 2] 050020010 | 1 | 7H
NS | 659-7 2 s 1] 7
2141
OINE | 650-7 =M 100%040x015 | 1 | N
OINE | AHO-3 22 CHEolS 1] 71| ey SuA| Sl 7532 4
202 | GINS | AHO-3 A 090x030x012 | 1 | 7 | xPef =ZA| Qo= 7591 4
oINS | 4HY-3 AN 090%060%0.20 1] M PN SA| EQCHZ 7552 4
OIME | AHO-3 22 ERYOIE 1 7|
2143
OIS | AHY-3 E:2S) 040%x025%010 | 1 | 7H
214 | SN | AHO-3 g2 CHEolS 1] 7]
oINS | AHO-3 20 S 1| 7l
215
NS | AHO-3 A 070x025x010 | 1 | 74
OGNS | AHO-3 = CHEOIES 1] 7]
26 | SINE | AHO-3 A 075%025%010 | 1 | 7H
OINT | AHO-3 A 0.75%045x0.15 1 7H
OIS | AHO-3 22 CHEolE 1] 7]
217
N | AHO-3 o] 060x040x012 | 1 | 74
oINS | LHO-3 2= S GE 1 7|
2148
OIME | AHO-3 =AM 0.75%0.25x0.08 1 N
2149 | oINS | AHO-3 =] Ehslof= 1] 7
OIS | AHO-3 22 CHElOlE 1] 71| Aa A=z Asie
2150 | oINS | AHO-3 E:2S) 075X025%010 | 1 | 74 | AP F=z ols(od
OIS | AHO-3 L H1.00 2 | & | A4 A=zt Asied
2051 | oINS | AHO-3 2 Chrlof= 1| 7
2152 | oINS | AHO-3 2 SRS 1| 7
CINE | AHO-3 2o CrlofE 1| 7
2153
OIS | AHO-3 E:2S) 050%x030x010 | 1 | 7H
OIME | LHO-3 22 CRYOIE 1 7|
2154
NS | AHO-3 E2S) 040x020x010 | 1 | 7H
OIS | AHO-3 2o Chofs 1| 7]
21%
OIAE | AHO-3 =M 040%0.200.10 1 7K
oINS | AHO-3 2o Ve 1] 7
2156 | oiME | AHO-3 r s 090x030x012 | 1 | A
OIS | AHO-3 A 0.75X045%020 1 A
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2157 ;
OIMNS | AHO-3 =N 040%0.200.10 L 2ps MSA| LT SSM=E B
oS | 4HO-3 2= CHIOIE 1] 7
2158
OIAIE | AMO-3 A 0.60x0.25%0.10 L
oINS | 4AHY-3 2= CHEIOIS 1] 7
2159 | oINS | 4HY-3 =N 0.75%025%0.10 1] M
OINE | AHO-3 A 0.75x045x0.15 1 7H
OIS | AHO-3 =] S 1| 7
2160
OIAIS | AHO-3 E:25] 0.90x0.30%0.15 L
oS | 4HO-3 2= CHloIE 1] 7 At SZA| pASYZ 87
2161 | QiNE | AMY-3 N 0.75%0.25%0.12 10 A At SIA| HLSAZ 87
OIMNE | AHO-3 ARM 0.75x0.45X0.15 L At SIA| HLSAZ 87
oIS | AHO-3 2a CHEloIS 1] 2
2162
OIS | AMO-3 Er2N| 0.40x020%0.08 L
OIAE | AHO-3 2o CiRjoflE 1] 7 g Tk kS =0k
2163
OIS | AHO-3 2 075%x025%010 | 1 | 7 | 2 ok Fokg Y=ol
oINS | 4HY-3 2= CHIOIE 1] 7
2164
oINS | AHY-3 of| 0.60x0.45%0.12 1] A
OIAKE | AMO-3 B0 CHRloflE 1] 7 == TS M| gl Fad
2165
oINS | AHO-3 E: 2 070x025%010 | 1 | M | ==& TS oA Gl Foid
oINS | AHO-3 2g R GES 1] 2
2166 | OIS | AHO-3 Q| 060x040%0.12 1] 7
OIAIE | AMO-3 AN 0.75X045%0.15 1 A
267 | oS | AH9-3 2 CHEoE 1] 7
oINS | 4HY-3 22 CH0IE 1] 7
2168
oINS | AHY-3 of| 0.75%045%0.12 1] A
2169 | oINS | 4HY-3 2= TR0 1] 7
oS | AHO-3 B2 CHlIS 1] 2
2170
oME | AHY-3 of| 0.75%045%0.15 1] A
2071 | oIS | AHO-3 20 ErRol 1]
oINS | 4HY-3 22 CH0IE 1] 7
2172
OIMS | 4AHY-3 = 0.40%020%0.10 1] A
2173 | oINS | 4HY-3 2= TR0 1] 7
2174 | oINS | AHY-3 2= CHIOIE 1] 7
oINS | 4AHY-3 2= CHEIOIS 1] 7
2175
oINS | AHY-3 =N 050x025%0.10 1] A
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oS | £H9-3 2= CHIoIE 1] 7
A QM | AHO-3 A 0.75%0.25x0.10 1 7H
2178 | oS | 4HO-3 22 TS 1] 7
2179 | oINS | AHO-3 =) CHIOIS 1] 7
OIS | AHY-3 22 CHI0IE 1] 7 = SZA| @7IF= 3B/ 11
2180 | oINS | 4AHY-3 A 0.75%0.25%0.10 1] M 2 S2A| PIF2 BHZ 11
S | £H9-3 oM 0.75%045x0.15 1] A = SZA| g7IF= 382 11
2181 | QNS | AHO-3 2= CHElofIS 1] 7 s S| BPIF2 382 11
218 | oINS | AHO-3 =) CHIOIS 1] 7
oINS | AHO-3 22 CHIOIE 1] 71 NLp; SZA| AS2AHZT
7 oINS | 4HY-3 = 0.75x025%0.08 1] M NLe, SZA| AS2AHZT
oINS | 4HY-3 22 CHlolE 1] 7
et oINS | AHY-3 = 0.70x0.30<0.08 1] A
oINS | 4HY-3 22 CHloiE 1] 7
a1 OIS | AHO-3 E=25 0.40x020%0.08 L
2186 | oINS | 4HY-3 22 CHoE 1] 7
oINS | 4HY-3 22 CHIOIE 1] 7
a oINS | 4HY-3 = 0.40x0.15%0.08 1] M
oINS | 4HY-3 2= CHIOIE 1] 7
e OIAIS | AHO-3 E:25] 0.60x0.30%0.10 L
2189 | NS | 4HO-3 2= CHIoIE 1] 7
210 | oINS | 4HY-3 22 CHoIE 1] 7l
oINS | 4HY-3 2= CHIOIE 1] 7
i OIAE | AHO-3 A 0.40%0.150.06 1] A
212 | oINS | 4HY-3 2= CHIOIE 1] 7
2193 | NS | 4H9-3 2= CHIOIE 1] 7
oINS | 4HY-3 2= ER0IE 1] 7l a2 ETA| YNSAUZ 108 OIS
o oINS | 4AHY-3 =N 0.70x025%0.08 1] A e STA| FNSAYZ 108 INFTS
21% | oINS | 4HY-3 2= CHIoIE 1] 7
oINS | 4HY-3 2= CHIOIE 1] 7
A oINS | 4HY-3 = 050x020<0.10 1] A
2197 | NS | 4H9-3 22 CHoliE 1] 7
218 | oINS | 4HY-3 2= EROIE 1] 7l oS ETA| Y2221 ARERLjo|A
oINS | AH9-3 22 EHIoIE 1] 7 &= SZA SRS SUT2IRA
7% OIME | AHO-3 =M 0.75x0.25<0.08 1 7H PA SZA| 2SS JATRIERR}
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20214 4% 15 =29

e oATIA}
;ﬁ; ESN N ! =R 7= 9 74 T2 | e o ~
OINS | AHY-3 AN 090%060x020 | 1 | 7 | &= STA| SE JATRIRA}
oINS | LHO-3 =] CREoIE 1] 7 4= SHA| 2SS JUTEIERR}
2200
oINS | AHO-3 =AM 0.75%0.25X0.08 1 N P =EA| ST JATEIZRR}
201 | OIS | AHO-3 =t CIEIOIE 1 7| grs 2xA| Y2S2121 AESLlLjojAl
OIS | AHO-3 == ERYOIE 1] 7
2202
OIAE | AHO-3 =EA 050%0.15%0.15 1]
OIME | LHO-3 =] ChEoIE 1] 7 = 0FTA| OIS MZBRA
2203
OIMS | AHO-3 =M 0.70%x0.20x0.08 1| 74 4= 0FTA| OIS MZBRA
204 | OME | AHO-3 =) ChEoE 1] 7
205 | QINIs | AHY-3 22 TS 1171
206 | QWIS | AHY-3 2o = 1| 7
207 | OIS | AHO-3 g2 Chloli= 1 7| M SEA| T5ICHZ 655 AlOH[XIA
IME | AHO-3 =) ChEolE 1] 7l
2208
OIAKE | AMO-3 =AM 0.60x0.250.08 1 7H
209 | OIS | AHO-3 =) ChEoE 1] 7
210 | 9IS | AHO-3 =) ChEoiE L
211 | oME | AHO-3 =] ERoIE 1] 7
212 | NS | AHO-3 =] ERoIE 1] 7
213 | OME | AHO-3 =) ChEoE 1] 7
oINS | AHO-3 22 CRYoIE L g SHA| FMER
214
S | AHO-3 =AM 0600.25%0.10 1| M EIES S| YAKZ
215 | oINS | AHO-3 =] ERoIE 1] 7
216 | oINS | AHO-3 =] ERoIE 1] 7
217 | oME | AHO-3 =] ERoIE 1] 7
OIME | LHO-3 =] ChEoiE 1] 7
2218
OIAIS | AHO-3 A 0.40x020%0.10 1 A
219 | OIS | AHO-3 =] ChEoIE 1] 7l 2h3| LIFA| g 2812 21-31
oINS | LHO-3 =] CREoIE 1] 7
220
OIMS | AHI-3 =N 050x0.20x0.10 10 A
OIME | AHO-3 == ERYOIE L
221 | NS | AHO-3 =N 0.75%x0.25%0.10 1| 4
OIS | AHO-3 A 0.75x045x0.15 L
22 | NS | AHO-3 =) ChEoiE L
IME | AHO-3 =] ChEoiE L
223
QNS | AHO-3 7 060x0.25x0.10 1 7K
224 | QNS | AHO-3 =) CHIOIS 1] 7
225 | oINS | AHO-3 == CRYOIE 1] 7l
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;ﬁ; 2RR| | A =oIEF 7= H 14 T2t | B . =
oINS | AHY-3 A 0.30%0.20%0.10 1| M
226 | oNE | 4AHO-3 Ea S IES 1 7|
oS | £H9-3 2= cHoiE 117
221
OIMT | AHO-3 A 050x0.20<0.05 1| 7H
208 | IMT | 4HO-3 22 cHloliE 11
229 | IMT | 4HO-3 22 cHloiE 117
oS | £H9-3 22 CHOIS 1] 71 a2 =ZA| M= 803
2230
oINS | AHY-3 A 0.40%x0.25%0.10 1] A = SuA| PAZ 803
231 | oS | AHO-3 2= CHlolIE 117
oIS | AH9-3 22 CHloliE 117
23
oINS | AHO-3 E: 25 0.40x0.20%0.10 1 M
233 | NS | LHO-3 22 CRYoIE 1 7|
oINS | AHMY-3 = CHloIE 1] 7l a2l S| 32 166912 4
234
OIAIE | AMO-3 M 0.70x0.30x0.10 10 P3| Z2uA| 2512 166812
23 | S | AHO-3 2= CHlolIE 11 7
2% | S | AHO-3 2= CHloiE 1] 7l
237 | NS | 4HO-3 2= cHoiE 117
23 | oS | AHO-3 22 cHoiE 117
oINS | AHMY-3 22 EH0IE 117 Tt S=ZA| $EZ 86
239 | NE | AHY-3 =N 0.70x0.300.10 10 ozt 2| $22 gz
oINS | AHO-3 AN 060040015 1] A o2t S| =2 862
oS | £H9-3 2= cHoiE 117
2240
OIS | AHO-3 E:2 0.70x030%0.10 1 A
NS | AHO-3 2= R G(ES 1 7|
2241
NS | AHO-3 E:2S) 070x030x010 | 1 | 7K
oS | £H9-3 2= CHOIE L
242
oINS | AHY-3 A 0.70x0.30%0.10 1| M
oS | £H9-3 2= CHlolE 1] 7l a4 SFEA| B2 16082
243
IMS | 4HO-3 =N 0.50%0.20%0.10 1 7H el SEA| 2= 160212
244 | AE | AHY-3 2= CHEoIE 1] 7
245 | OIS | AHO-3 =20 CHRlofI= 1| 7
2246 | oINS | AHO-3 Ea CrEloE 1 7|
oS | £H9-3 2= CHOIE 1] 7l
247
S | £H9-3 A 050%0.20%0.10 1| M
248 | S | AHO-3 2= CHloliE 1] 7l
209 | OIS | LHO-3 22 ERYOIE 1 7|
250 | NS | 4HO-3 22 cHloliE L
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bl AR | X 749} 7= 3 12 2| g N
OIS | AMO-3 Er2N| 0.30x0.15%0.10 L
QNE | AHO-3 = CHElol= 1 7|
2251
OIAIS | AHO-3 N 0.30x0.15%0.10 1 A
252 | S | AHO-3 22 S GE 1 7|
2253 | oINS | AH9-3 Bz CHEE 1 7|
2254 | oINS | AHO-3 Ba CHEIE 1 7|
QNS | AHO-3 B2 GRS 1 7|
2255
oINS | AHO-3 =M 075x025x008 | 1 | 7H
25 | oINS | AH9-3 Ba TS 1 7|
NS | AHO-3 2= CHEIE 1 7| o&l 47| MEA| 22 TR 55,
2257 | oINS | AHO-3 =N 0.70x0.25x0.10 1 N ofsl 27| M| B0 Mxjelz 55,
ONT | AHO-3 BT H3.00 2 | F ofsl 47| MEA| B TR 55,
258 | s | 4HO-3 2= mpv = 1 7|
259 | oINS | AH9-3 ) TS 1 7|
200 | oS | AHO-3 22 SRS 1| 7
261 | oINS | AH9-3 Ba TS 1 7|
NS | AHO-3 22 S GE 1 7|
2262
oINS | AHO-3 A 0.70x0.30<0.10 1 7H
263 | s | 4HO-3 22 CHEoE 1 7|
NS | AHO-3 2= CIEolE 1 7|
2264
OINE | AHO-3 =N 070x025x010 | 1 | 7K
NS | AHO-3 22 S GE 1 7|
2265
oINS | AHO-3 A 070x030x010 | 1 | A
2206 | s | 4HO-3 2= S GE= 1 7| 24 4 SEA| BE213H2%6
QINT | AHO-3 B EEGES 1 7| sk U] =242 65
2267
QNS | AHO-3 =N 0.40x0.20<0.10 1 N s TYOIA| =442l 65
QNE | AHO-3 ) CHElol= 1 7|
2268
OIAIS | AHO-3 N 0.70x030%0.10 L
NS | AHO-3 2= == 1 7| #Z 2l AQKH 4012
2269
QiME | AHO-3 Erds 060x0.200.10 1 7H = QI A0IH Aok
210 | S | AHY-3 Ba CHEIE 1 7| Pasi| ZFAl MT S22 19332 22
QNS | AHO-3 = mpv == 1 7| Fasi ZFAl MT S22 19332 22
221
IME | AHO-3 Q| 060x0.40%0.12 1 7K s FAl MT S22 19332 22
NS | AHO-3 Ba TS 1 7|
2212
QIAKS | AHY-3 A 070x025%010 | 1 | 7H
ONT | AHO-3 Ba CHEIE 1 7|
2273
OIMT | AHO-3 e 2 0.30x0.15%0.10 1 74

- 259 -



20214 48 152 =2 Aepe e =50 Aloao T EAS
= 4Rt
I H =1y o] = < al £l Aot El_l_o
uis 2K | R A 7= % 74 2| - =
oINS | 4HO-3 =2 RSV 1] 7
2274
NS | 4HO-3 =N 0.75x0.250.08 10
275 | oINS | AHO-3 29 RS 11 7l
NS | 4HO-3 == RS 1] 7
276
NS | AHO-3 =N 0.75%0.250.08 1|
ANT | AHO-3 == == 1 7|
21
oINS | AHO-3 A 1.000.40<0.20 1
278 | NS | AHO-3 29 RS 1] 7
279 | GMNE | AMY-3 29 ChEoE 1] 7
NS | 4HO-3 29 ChEoiE 1| 7]
2280
NS | AHO-3 =N 0.75%0.25x0.10 1
NS | AHO-3 22 ChRiol= 1| 7] opz MEA| 127 == 82 11,
2081
OIME | AHO-3 M 1.000.40<0.20 10 A oz MaA 27 SA= 824 11,
oINS | 4HO-3 29 ChEoE 1| 7]
282
OIAKE | AHO-3 =M 040%0.200.10 1 7K
oINS | AHO-3 22 CHolE 11 7l oz MEA| 727 3= 82 11,
283
oINS | AHO-3 =M 0.75%0.25%0.10 10 A op= MEA F=7 SY= 824 11,
NS | AHO-3 == RIS L
2284
OIMS | AHI-3 =N 0.70%x0.30x0.10 1| 4
OIS | 4HO-3 22 choliE 1171 2 Mg =27 18= 162
285
oINS | AHO-3 =M 0.70x0.250.10 1| K &2 M2 727 1A= 162
NS | 4HO-3 22 CRYoIE L o5 e A 225 S22 0910,
2286
oIS | AHO-3 12 0.70x025%0.10 1| M of*3| Z|= IZA| 218 222 49-10,
oS | 673-11 == VS 1| 7]
287 | oNE | 673-11 M 0.70x0.250.08 1|
oINS | 673-11 A 0.90060%0.20 1 A
OINE | 673-11 29 CIE0S 1| 7]
2288
OINS | 673-11 A 0.70x0.250.10 1
NS | 673-11 =) CiRjofE 1] 7
2289
oINS | 673-11 M 0.70x0.300.10 1|
NS | 673-11 29 oS 11 7l I SIA| NZ 39
290
OINE | 673-11 =y 050%0.200.10 1| 4 1S SIA| AZ 392
291 | QNE | 673-11 29 Chalof= 1| 7]
NS | 673-11 29 ChEoiE 11 7l tpat A M 2 82 15
29
OINS | 673-11 A 050x0.20%0.10 1| 7H I ) TTA| MT SEOZ 882 1
OINS | 673-11 22 CRolE 11 7l or SIA| Z0|Z 23 ZO[ERR 15K
293
OIMNE | 673-11 A 0.75%0.250.08 10 A op 2uA| 0|2 23 ZOERR 12|
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OAE | 673-11 20 CHRIO)E 1| 7
2294 -
oINS | 67311 s H150 1] F
2205 | oME | 673-11 22 CIRE 1 7|
oINS | 673-11 Eg Cxlo= 1 7| 25 =ENESS
229%
NS | 673-11 = 0.75%0.25x0.08 1 N 2= BuA| ==
oINS | 673-11 B ChEoE 1 7| g ol 22 2EHINZ 185
2297
oIMNE | 673-11 A 0.70x0.25%0.10 1 N g ol 225 == 185
oINS | 673-11 2 CHROIS 1| 7
2298
oINS | 673-11 A 0.30x0.15x0.10 1 74
20 | oINS | 673-11 =) CIRI0)E 1] 7
2800 | oIMS | 673-11 2o CIRIO)E 1] 7
2301 | oINS | 67311 22 CRIS 1 7|
2302 | o=s | 673-11 Ex CHlo= 1 7|
2303 | oIS | 673-11 2z (B 1 7|
NS | 673-11 B TS 1 7| = 47| AIS7| HiZH4ZE 106-26,
2304 N
OINE | 673-11 =AM 0.70%0.25x0.10 1 7K 2z 7= AlE7| 242 106-26,
oINS | 673-11 2o CHRIOJI= 1| 7
2305
oS | 67311 =M 0.75x0.500.15 1 7H
oINS | 673-11 2 CHRIOIIS 1| 7
2306
oS | 67311 A 0.75x0.50<0.15 1 74
2307 | oMs | 673-11 2= (B 1 7|
208 | QNS | 67311 g Chalolls L I B - 27| ARl S22 135812 24-1
2209 | oINS | 673-11 2 SIS 1| 7 z 27| oAl 3R 113582
OINS | 659-7 B ChEoIE 1 7| g 47| AFFA| =2 11358
2310
A= 659-7 = 0.70%0.25x0.12 1 74 2i*l 27| SHFA| S==2 11358
2311 | oM 659-7 22 CIRIE 1 7|
212 | oINS | 659-7 =20 e 1| 7
NS | AHO-3 B ChEoiE 1 7|
2313
IMS | 4HO-3 A 0.75%0.25x0.08 1 74
OIMT | AHO-3 2 S 1 7| et 47| A LMET D2 42
2314
AMS | 4H9-3 A 050%0.20<0.10 1 IH ArS 27| TIQA| YMST 1= 42
2315 | oilE | AMO-3 22 (B 1 7|
QNS | AHO-3 2= CHElol= 1 7|
2316
QNS | AHO-3 A 0.80x0.25%0.10 1 74
NS | AHO-3 2z CHEloiI= 1 7|
2317
HMS | 4H9-3 A 0.70x0.25%0.10 1 74
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e | A% | x| =oIEF 7= & 4 w2k | Bl
e A N
oS | AHO-3 2 =S 1| 7
2318
NS | AHO-3 =N 040%0.20x0.10 1| M
2319 | oINE | 659-7 2 RS 1] 2
oINS | 659-7 22 CHElol|= 1| 7]
220
oIS | 659-7 N 0.70x0.250.10 1| M
2821 | oS | 659-7 2 VS 1| 7
oS | 659-7 2 RIS 1| 7]
282
oS | 659-7 =N 050x0.25%0.10 1| M
2323 | I | 659-7 2= ChEoE 1| 7
2324 | Qs | 659-7 20 CHEloS 1| 7]
2825 | oS | AHO-3 2 Chlol= 1| 7
oIS | 659-7 = oS 1| 7 ofg SEA| B2 1622
2%
oS | 659-7 =2 0.40x020%0.10 1 M og 2TA| ZAZ 16812
oINS | 6597 22 CHlolS 1] 7l
2327
oS | 659-7 =M 0.75x025%0.08 1|
2328 | oINS | 659-7 Bz CHEloIE 1 7|
oS | 659-7 22 CHolE 1] 2 b STA| Hel= 20242 11
2829 | oIS | 659-7 Q4| 0.70x045%0.15 1 M PSS S/l Hal= 2082 11
oS | 659-7 A 0.75%045%0.15 10 A EShes Z2TA| Iz 20842 11
oS | 659-7 2 CHloI= 1] 2 2R A M 2R
230
oINS | 659-7 A 0.70x0.25x0.10 1 7H 2K} TN MF 222
oINE | 659-7 2o ChEloi= 1 7| P OIMA| R4 HE52
OIS | 650-7 Q| 0.40x030%0.12 1| A EHa CIMA| R+ B352
2331
oIS | 659-7 A 0.90x060%0.20 10 A EHa CIMA| R B352
oIS | 659-7 oNE H1.00 1 F 2 OIFA| B Hs2a
s | & | = BEols | 1| 1| ®= )
23
oINS | 659-7 =AM 0.70%0.25%0.12 1 N = 2uA| ASlEI2BHD)
NS | 659-7 22 CHoIS 1] 2 opg SHA| FhZ 16842
23
oINS | 659-7 =M 0.70x025%0.10 1| M o*g 2uA| SAZ 16812
oIS | 659-7 22 oS 1| 7l e FOI LBkE Hob= 72
2334
ANT | 659-7 A 0.70x0.30%0.12 1 | 7H ESWS Dol AISES Lioksz 72612
oS | 659-7 22 RIS 1| 7 =2 x| 2912 174 22|t
2%
oS | 659-7 M 1.00x0.35%0.12 1| M =2 Z2xA| 2912 174 22|t
8% | IS | 659-7 2 CHoS 1| 7 == SuA| SelZ 174 L2 [YLEA
2337 | SIS | 659-7 22 P ES 1| 7
NS | 659-7 2= CIEIE 1 7|
233
oS | 659-7 2| 1.00x0.40%0.12 1| M
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bl EVN NI PN ZalSlES = 2 74 2F | TR g =
oINS | 659-7 A 0.90060%0.20 L
A= 659-7 S H0.30 2 7H
oINS | 659-7 Ba R S(GIES 1 7]
2339 | QNS 659-7 | 0.70x0.40%0.15 1 7H
oINS 659-7 AN 0.75%x045x0.15 1 7H
oINS | 659-7 Bz CHEloIE 1 7|
2340
oINS | 659-7 oA 0.75%0.30<0.10 1 7H
84 | o= | 659-7 Ba S 1 7| s 27| 8QRIA| Aol HX|Z 40HZ!
NS | 659-7 Ba SIS 1 7|
2
e OIAE | 659-7 of| 050x0400.10 1| K
oINS | 659-7 Bx R S(GIES 1 7|
2343
A 659-7 A 0.70%0.25x0.10 1 IH
NS | 659-7 Ba S 1 7|
2344
oINS 659-7 M 0.40%0.20<0.08 1 H
oINS | 659-7 Ba SIS 1 7|
2345
A 659-7 M 0.60x0.30<0.08 1 7H
oS | 659-7 ga oS 1 7|
2346
A= 659-7 Q| 0.60x0.40x0.10 1 7H
oS | 659-7 B RIS 1 7| S| ZA| plsk2 376-1, 2jo|= 2K}
4 IS 659-7 M 0.70x0.25x0.10 1 7H LS| Z2A| AlSEZ 376-1, 20| 2K}
oA 659-7 Ba S 1 7| 5 45 Euz Mg HEe 72 14
a8 N 659-7 | 0.90x0.70x0.20 1 74 s 45 =7 MAE 52| 72 14
oS | 659-7 Ba R SGIES 1 7] PA S 45 Eaa MAE HEe 7 14
0 oINS | 659-7 M 0.75%0.25%0.10 1 74 s 45 a7 M3 HEe] 72 14
oS | 659-7 ga S 1 7|
2350
A= 659-7 M 0.70x0.25%0.10 1 7H
oINS | 659-7 Ba S 1 7|
2351 | QNI 659-7 =M 0.70x0.25%0.10 1 7H
N 659-7 AR 0.75%x045%0.15 1 H
oINS | 659-7 Bx SIS 1 7|
2352
IS | 659-7 o] 075%x045%015 | 1 | A
oINS | 659-7 22 S =) 1 7|
2353
A= 659-7 A 0.70%0.20x0.10 1 IH
oINS | 659-7 Ba SIS 1 7|
2354 —
A 659-7 M 0.75%x0.25%0.10 1 H
oMS | 659-7 B2z RGeS 1 7|
2355
oS | 659-7 =AM 0.90%0.30%0.12 1 74
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2356 | QNS | 659-7 B ChoE 1 7|
OIMS | 659-7 B ChEolE 1 7|
2357
OINE | 659-7 A 090x0.25%0.12 1| 7N
2358 | QIME | 659-7 B CRYoIE 1 7|
NS | 659-7 Bz == 1 7| Hpeat MEA| 257 M2 174
2859 | oINS | 659-7 | 0.75X040%0.12 1| i Hhy MEA| 257 S22 174
NS | 659-7 =PI 240060 1 S oha MEA| 257 £M2 174
NS | 659-7 B ChEolE 1 7|
2360
OIS | 659-7 A 0.75%0.25%0.10 1 | 7H
oINS | 659-7 B EESGES 1 7| Sy MEA| 25~ SM= 174
2361 | oINS | 659-7 Lels] 0.75%045%0.12 1| 7K ET N MEA| 257 SM= 174
NS | 659-7 =N 240060 1 S oia MEA| 257 S22 174
oINS | 659-7 o R GES 1 7|
2362
oINS | 659-7 A 100%0.35x0.15 1| 7H
2363 | oINS | 659-7 B RS GES 1 7|
oINS | 659-7 B EESGES 1 7|
2364
oINS | 659-7 A 050x0.25%0.10 1| 7N
oINS | 659-7 2 TS 1 7|
2365
OINE | 659-7 =N 0.70x0.300.08 L
oINS | 659-7 B= TS 1 7| o AFA| 57 SS2 100 SChA
2366 N
NS | 659-7 A 090%0.30x0.12 1| K =l AFA| 57 SSZ 100
NS | 659-7 B CRYoIE 1 7| af LFAl S SS2 100
2367 N
NS | 659-7 A 100%0.35%0.15 1 7H o EFA 57 S22 100
oINS | 659-7 2o CRYoIE 1 7| ArE CIMA| ST A2fU=2 93
2368 . -
oINS | 659-7 A=A 2.10x1.40%x050 1 S A= CIMA| ST A2HA= 93
OIME | 659-7 B P GES 1 7| s CIMA| ST AHI2 3
OIMS | 659-7 A=A 210x1.40%x050 1 | ArE QIMA| ST A2HHZ 93
2369 R _
OINE | 659-7 Q| 0.75%045x0.12 1 7H ArE OIMA| ST 2= 93
ONT | 659-7 Ak 090x0.60x0.20 1| 7H A= CIMA| S+ A= 93
oINS | 659-7 2 CRYoIE 1 7| ArE CIMA| ST A2fU=2 93
2370 . -
oINS | 659-7 ARIE M 2.10x1.40%x050 1 = ArE QIMA| ST A2fU=2 93
NS | 659-7 B= TS 1 7| ot MEA| 257 SM= 174
NS | 659-7 =M 240060 1 EE oia MEA| 257 £M=2 174
2371
oINS | 659-7 Q| 0.75x050%0.12 1| N gpeat MEA| 257 SM=2 174
OIS | 650-7 | MOflopat HO.90 1| 7H st MEA| 257 SM= 174
oINS | 673-11 2o CRYoIE 1 7|
23712
OIMES | 673-11 A 0.75%0.25%0.08 1| 7H
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oINS | 659-7 B ChoE 1| 7
an OIS | 659-7 A 040%0.20%0.10 1| 4
NS | 6659-7 2= R UES 1| 7 Elgiel SEA| 222121
= OIMS | 659-7 Ak 0.70<0.40%0.15 1| i Elgkel IEA| 222121
OIME | 659-7 B ChEoIE 1| 7 ok Tl 57 HeZ 89HZl 54,
275 | WIS | 659-7 o] 060x040x010 | 1 | A ops ZA| 27 piolZ 80HiZ 54,
OINE | 659-7 ARIERIA 210x1.40%x050 1 = Ope LZA| £ miolz 89512 54,
oINS | 659-7 B ChEolE 1| 7 op FA| 57 HUZ 89HZ 54,
e OINE | 650-7 | ARISEIN | 210x140x050 | 1 | & | ok LTA| S ol 892 54,
oINS | 659-7 B EESGES 1| 7 AE OIMA| ST Afed= 93
e OIME | 659-7 A 040%0.20%0.10 1 | 7H A= OIMA| ST Afd= 93
OIME | 659-7 B ChEoIE 1| 7
s oINS | 659-7 A 0.75%0.25x0.08 1 N
oINS | 659-7 B RS GES 1| 7
e oINS | 659-7 A 0.75%0.25%0.08 1| K
oINS | 659-7 B EESGES 1| 7
OIS | 659-7 A 0.70%0.25%0.10 1| 4
>0 oINS | 659-7 A 0.75%0.45%0.15 1 N
oS | 659-7 A=A 2.10%1.10x050 1 S|
oINS | 659-7 B TS 1| 7
2 OINE | 659-7 A 080%0.30%0.12 1| 4
OIMS | 659-7 B CIEoIE 1| 7 ]| SEA| 252 48
% OIS | 659-7 2| 060x0.40%0.12 1| 4 o3| 2UA| A2 42
oS | 659-7 == (=S 1 7|
2383 | oINS | 659-7 A 090%0.300.12 1| 7K
oS | 659-7 BF H1.00 2 =5
oINS | 659-7 B ChEolE 1| 7 &5 sl S Sa=Z
e oINS | 659-7 2| 0.70x050%0.15 1 N &5 Sl B 24z
oINS | 659-7 B EPSGES 1| 7 &' szt S =2
> oS | 659-7 2| 0.70x045x0.12 1 7H &5 Sl ST 4=
OIME | 659-7 B ChEoIE 1| 7 a4 MEA| =8 A==,
2886 | NS | 659-7 A 0.75x0.25%0,08 1| 7H e M2A| 25 Zok==7,
AT | 659-7 T H3.00 2 | F a4 MEA =5 SY==T,
2387 | OIS | 659-7 B RS GES 1] 7
OIMS | 659-7 B CRYoIE 1| 7
2388
oINS | 659-7 oiNE H2.00 1| F
2389 | QNS | 659-7 2 ChaloilI= 1] 7
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oINS | 659-7 A 050020008 1 7N
OINS | 659-7 ) CIEoS 1 7| P 47| FRA| ZOIRE 231
2390
OINE | 659-7 A 0.60x0.25x0.10 1 7H T 47|z FRA| ZOIRE 231
ONT | 659-7 2= TS 1 7 =N ZExA| ASZ 209 AOH|[X|A
2391 | QINE | 659-7 2| 0.80%0500.15 1 7H ESgN 2| HS2 200 AlOH[X|A
oINS | 659-7 S H1.00 3 | F ESgN 2| HS2 200 AloH[X|A
oINS | 659-7 ) TS 1 7| TN 2TA| HSZ 209 AR |XIA
239
NS | 659-7 s H150 1 e TN ZTA| HSZ 209 AR XA
oINS | 659-7 Ba RS GES 1 7
2393
oINS | 659-7 A 0.75x0.25%0,08 1 7H
OINE | 659-7 Ba ChEloi= 1 7|
2394
OINE | 659-7 =M 0.70x025%0.10 1 7H
oINS | 659-7 Eg Clzlof= 1 7|
23%
oINS | 659-7 A 0.70%0.25<0.10 1 N
2% | QME | 659-7 Ba SR 1 7|
OINE | 659-7 Ba CIElo= 1 7|
007 | ANE | 659-7 A 0.70%0.25x0.10 1 7N
oINS | 659-7 AR 0.75%0.45%0.15 1 IH
S | 650-7 22 RIS 1| 7
28 | GINS | 659-7 =AM 0.70x0.25%0.10 1 7H
oINS | 659-7 A 0.75%045x0.15 1 7N
289 | NS | 669-1 ) CHElo= 1 7|
ONE | 669-1 2= CHEoE 1 7| =Rt =EEA| QINEHAZ 182079
2400
QIS | 669-1 k=2 0.70%0.25%0.10 1| 74 ESoNS DIA| OIAMHHRT {H2I79
2401 | QIME | 669-1 B2 CIoIS 1 7| &=E A =2
oINS | 669-1 ) TS 1 7 =2 HEFA =2
2402 | oINS | 669-1 A 0.70x0.25x0.10 1 7K &=E A =2
oINS | 669-1 == H1.00 1 e &=E HEFA =2
oINS | 669-1 22 RS 1| 7
2403 | QNS | 669-1 A 0.75%0.25x0.10 1 N
OINE | 669-1 == H1.50 4 | F
oINS | 669-1 ) TS 1 7|
2404
oINS | 669-1 A 0.75%0.25x0.10 1 7N
oINS | 669-1 B RS GES 1 7|
2405
OINE | 669-1 A 0.75x0.25%0,08 1 7N
oINS | 669-1 22 EEGES 1 7| A AFA| T MECHE 627842 9,
2406
NS | 669-1 A 0.75x0.25%0,08 1 7H 214l ZFA| 7 MEOHZ 62752 9,
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e KR | X 21015 7= 9 74 2F | e - ~
A= 669-1 22 (B 1 7|
2407
oINS | 669-1 A 0.50x0.30<0.08 1 7H
oS | 67311 2o CHloI= 1 7|
2408
QiME | 673-11 =AM 0.75%0.25x0.08 1 7H
22409 | oINS | 67311 2o CHRlofI= 1] 7
NS | 673-11 B R UES 1 7| A 2oA| Liebz 2zl {0
2410
NS | 673-11 AN 0.75x0.25%0.08 1 7H A S| obaz 2HiZl 1)
OINE | 673-11 ) mpv == 1 7| 2*4 SA| HE2 136812 22
2411 —
OINE | 673-11 M 0.40x020%0.10 10 N oAl STA| Ho2 1362 2
oINS | 673-11 22 CHEOIE 1 7|
2412
QS | 673-11 =N 0.30<0.10x0.10 1 74
WS | 673-11 2o ROl 1| 7 ofs ol MBS Al
OINS | 673-11 M 0.80%0.300.10 1 N =] Yok ASS AR
2413 -
oINS | 67311 AN 0.75x045%0.15 1] o& ok MBS Al
oINS | 67311 | 23S H1.00 1| F| ord FUT MBS =M 1117-13
oS | 67311 2o CHRloI= 1 7|
2414
oINS | 67311 =M 0.70%0.250.12 1 74
QNS | 669-1 2 =PI 1 7| = ol Alhs Helb=2 22442
2415 :
oINS | 669-1 =M 070x030x010 | 1 | A = ol AlBES Lol 22612
=S 669-1 22 (B 1 7|
2416
oINS | 669-1 A 0.60x0.20<0.10 1 7H
217 | QNS | 669-1 == CRRlS 1 7|
NS | 669-1 == IR 1 7|
2418
oINS | 669-1 A 0.70x0.25x0.10 1 74
2419 | oINS | 669-1 20 CHElOIS 1| 7
NS | 669-1 2= G 1 7| 2 AT ST AR 0 15
2420
oS | 661 2 080x030x010 | 1 | M | 2 LT ST ARE 309 15
NS | 669-1 =22 mpv == 1 7
2421
QNS | 669-1 24| 055%045%0.10 1 N
oIME | 669-1 Ea Calo= 1 7|
2422
NS 669-1 A 0.75%0.25x0.08 1 7H
OIAE | 673-11 2 =SS 1] 7
2423
oINS | 673-11 A 0.70x0.25%0.10 1| 7H
NS | 669-1 =22 v 1 7|
2424
SN 669-1 =AM 090x0.300.12 1 7H
NS | 669-1 2 CIEoIS 1 7| o= ZEZ ZRg 22
2425
OIAE | 669-1 =N 0.70x025%0.10 1] M o 2rZ 2R 2o
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226 | oINS | 669-1 2o ChRjofiE 1] 7
oINS | 669-1 B CHElol= 1 7| A= ok kB
i NS | 660-1 =4 070X025%010 | 1 | 7 | A Sol AlstS
2428 | QNS | 669-1 B CRYoIE 1 7| Al FoRE Al
oINS | 669-1 B ChEoIE 1 7|
2429 | NS | 669-1 M 0.70x0.25x0.10 1 74
oINS | 669-1 L= e H1.00 5 =5
oINS | 669-1 B RS GES 1 7|
OIME | 669-1 =N 080x030x0.10 1
e A 669-1 AN 0.75x0.45x0.15 1 7H
oIME | 669-1 51 H0.30 1 74
oINS | 669-1 B ChEoIE 1 7| = ==A| &F 1018
2 OINS 669-1 = 0.75%0.30x0.10 1 74 P =ZA| 43 1018
oINS | 659-7 2= EE e 1 7| @2 SEA HSE 210
e oS | 659-7 A 0.70x0.25x0.10 1 74 = =X 352 210
22433 | MF | 659-7 = ChREloI= 1] 7
2434 | QWIS | 659-7 B CHRloI= 1 7|
4B | GINE | 659-7 20 CHRlofl= 1| 7
2436 | NS | 659-7 == CERoIS 1 7|
oINS | 659-7 B RS GES 1 7| Lp SZA| a2
A3 | S | 6597 Q| 0.75%055x0.15 1] K HLES DAl Alsl2
OINE | 659-7 A 0.75%045x0.15 1 7N L 2| Al
AW | OGNS | 6597 =l S 1| 7
2439 | Qs | 659-7 27 RIS 1 7|
OIME | 659-7 2= CRYoIE 1 7| E SIA| SHACHSE 337 23
e OAS | 659-7 =AM 0.75%025%0.08 1| K e S| BHACHE 33742 23
2441 | oINS | 659-7 B2 EPSG[ES 1 7|
oINS | 659-7 B EESGES 1 7| = SEA| HASAZ 108
e oINS | 659-7 A 080%0.25%0.12 1| i a2 SIA| JSAZ 108
oINS | 659-7 = CRYoIE 1 7|
e oS | 659-7 M 0.75%0.250.08 1 7H
NS | 659-7 22 = 1 7|
444 | GINS | 659-7 Q| 050%0.35%0.10 1| K
OIMS | 659-7 =z 240060 1 £
OIMS | 659-7 B CRYoIE 1 7|
2445
OINE | 659-7 TRIOH| 050x0.30%0.10 1 N
2406 | QNS | 659-7 2= CRYoIE 1 7| O[*A} SEA| GS2 4182 40,
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b | DAL R | S2ER ZUTH || e
bl AHA] | 29| 7= 3 2 2| - =
OINE | 659-7 7 0.70%0.25x0.10 1 7H O[*X} 2UA| U2 41842 A0,
247 | NS | 659-7 B TS L s TEA| XA 28
oINS | 659-7 = RS GES 1] 7
2448
oS | 659-7 A 0.80x0.300.12 1 74
2449 | QNE | 659-7 22 CIEIE 1 7|
oINS | 659-7 2 ChEolE 1] 71 s SEA| XA 28
2450
oINS | 650-7 =M 090x030x012 | 1 | 7H 5 Al AjiAMZ] 28
oIS | 659-7 22 CHElOIS 1| 7 Zi*o| BTA| Al 35,
2451
OINE | 659-7 =M 0.70x0.200.10 1 7H 2] 2A| AR 35,
oS | 659-7 22 CH0i= 1| 7l o SHA| AlElZ 303-3
2452
oINS | 659-7 Q| 0.50x0.400.15 1 74 P! S3xA| AsH2 303-3
NS | 669-1 B2 P GES 1] 7 A4 =EA| FE212
2453 N
oINS | 669-1 =EA 0.75%0.25%0.10 1] K AAl DA HE2(2
254 | AINE | 669-1 2= ChEolE 1] 7
oS | 669-1 22 CHolIS 1| 7
2455
NS | 669-1 AN 0.75x0.300.10 1 N
oIME | 669-1 Ex Clalo= 1 7|
2456
NS 669-1 A 0.80%0.30x0.10 1 7H
OIMS | 669-1 B ChEoE 1] 71 = OA| ZfpQ2 435,
2457
QIMS | 669-1 7 0.70x0.25x0.12 1 IH oM [EESNESENT W
oINS | 660-1 == CHEjoIE 1] 7 opZ| SgA| 20k Slai ||
2458
oINS | 669-1 A 0.70x0.25%0.10 1| 7H OpA| 2| 20I= sla|gic
2459 | oNE | 669-1 Ba CHloI= 1 7
oINS | 669-1 Ea Clalo= 1 7|
2460
NS | 669-1 =N 0.90x0.30x0.12 1 N
NS 669-1 == CIRIE 1 7|
2461
NS 669-1 A 0.75%0.30x0.10 1 IH
NS | 669-1 2 RS GES 1] 7l * 7|z QAL AIZICHS 159842159
2462
oINS | 669-1 A 0.75%0.25%0.10 1 | 7K A+ 27| QI2HA| ABICHE 159842159
QNS | 669-1 == === 1 7| ¢ FAA| ARSI 2T 123
2463
OINE | 669-1 =M 0.75%0.25x0.10 1 7H op SAA| ARSI 2SHZ 123
AINT | 669-1 2= R GES 1] 7
2464
oINS | 669-1 A 090%0.300.12 1 7H
OIMS | 669-1 2= EPG[ES 1] 7
2465
oIME | 669-1 2| 0.60<0.40x0.10 1 74
2466 | oNE | 669-1 2o CHRloI= 1 7|
2467 | oS | 659-7 Bz CHlo= 1 7|
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T AR | R EHEF 7= g A =
e M LS
NS | 650-7 A 090x0.300.12 1 JH
OIAE | 650-7 AbM 0.75x045x0.15 1 IH
A8 | GNS | 650-7 ) R 117
OIAE | 650-7 2 =S 1 7|
2469
OIAIE | 659-7 M| 0.60x040x0.10 1 IH
NS | 650-7 29 == 1 7|
2470
oINS | 650-7 =AM 0.60x0.20x0.10 1 IH
NS | 650-7 B2 =S 1 7|
2471
ANE | 659-7 =AM 0.75x0.25x0.10 1 IH
NS | 668-7 22 CHEIS 1 7| Z*e okt QEX|T SHmE!
oMNS | 668-7 2| 0.75%050%0.15 1 IH el SOk @EX|F SHME!
2472
oMS | 668-7 AbM 0.75%045%0.15 1 IH el SOk @EX|F SHME!
INZE | 6687 Bi H0.30 1 7H 22l SOl QEX|T SHmME!
OIAKE | 6687 ) I GES 1 7| Z*el ol QZX|T SHmE!
2473
OINE | 6687 A 0.75x0.25x0.08 1 7H 2eh Folt QEX|T SHmME!
OIAE | 659-7 29 CHEIS 1 7|
2474
ONE | 650-7 A 0.75x0.25x0.08 1 7H
NE | 659-7 g2 =S 1 7|
275 | NS | 659-7 =AM 0.75x0.25x0.08 1 JH
OIAKE | 650-7 e =C 210%1.20X050 1 =
2476 | NS | 650-7 B9 CHEII= 1 7|
OIAE | 659-7 2 =S 1 7|
2477
OAE | 650-7 A 0.70x0.25x0.08 1 7H
OIAkE | 6687 ) N GES 1 7| 2 x} ZzA| O[E= 20681
oINS | 6687 =AM 0.80x0.30x0.10 1 7N 22X} S=xA| 052 20681K|
2478 | OIS | 668-7 AR 240%150%050 1 = 2 x} Z3A| OS2 206HX|
oINS | 6687 A 0.75%0.45%0.15 1 N 2 x} S| 032 2068HX|
OIAES | 668-7 S H2.00 2 | F 2K} S| OS2 20681K]|
OIAE | 650-7 2 = ES 1 7|
2479
INE | 659-7 A 0.75x0.25x0.08 1 7H
OAE | 659-7 2 SRS 1 7 = ol MBkS o2 742l 13
2480
OIAE | 650-7 =AM 0.70x0.25%0.10 1 7H = ol Alsks Lo 742l 13
OIAE | 650-7 B2 CIROIE 1 7| ZI*off ETA| XR2 912 26
OIAE | 650-7 A 0.70x0.25x0.10 1 7H 210 2TA| AERE o7H2 26
2481
OIAE | 650-7 AN 080050015 1 7H 210 2| XR2 912 26
M= | 659-7 U= 2.40%060 1 ) 2*off ETA| AR2 91HZ 26
2482 | NS | 659-7 29 == 1 7|
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83 | NS | 659-7 20 P ES 1| 7]
284 | NS | 659-7 20 P ES 1| 7]
oINS | 659-7 22 P ES 1| 7
OINS | 659-7 =M 0.800.30<0.10 10 M
o OINT | 659-7 2 0.75X0.45%0.15 1| 7K
oINS | 659-7 =l H150 11 F
oINS | 659-7 22 CHoli= 1] 7l
0 oIS | 659-7 =M 0.70x020%0.10 1| M
oINS | 659-7 = RS 1| 7l Ehs EAMA| MR 22IS 1357
o OINS | 659-7 A 0.750.25X0.08 1| M ELES EIAA| AT BEIE 1357
oS | 659-7 22 CHRlolE 12| S3A| 45 1018
e oINS | 659-7 M 0.75x0.25X0.08 1| P Z27A| AIS 1018
NS | 659-7 29 EASVIES 117l g SuA| A 238542 23-1
A oINS | 659-7 M 0.75x0250.08 1 ET =) SuA| MEZ 23821 23-1
2490 | QNS | 659-7 29 TR 1 7
OIS | 659-7 2g EES 1| 7l
2491 | GINS | 659-7 =M 0.700.300.10 10 M
oINS | 650-7 i H2.00 2 | =
OINE | 650-7 20 RIS 1| 7l g OIFZAA| M7 HOIZ R,
w2 oINS | 659-7 =M 080x025x0.12 1 CLES OIXZOIA| AT HOj2 O,
NS | 650-7 ) Chlolis 1| 7 s ME ZMT 31583
oINS | 659-7 | 0.60x040x0.12 1 7H 2 NS ZMT 3j=8=
oINS | 659-7 ARA 0.75x0500.15 1 N 2= M ZMT 8=
2B Mo | o7 | rizald | 2s0x120x0%0 | 1 | 2 | 2= NE LA sHE8s
oINS | 659-7 I HO3.0 1 IH 24 M ZMT sj8E
oINS | 659-7 =l H2.00 2 | = s ME ZMT 31583
OINE | 650-7 ) Chlolis 1| 7
OIS | 659-7 | 0.75x050x0.12 10
e OINE | 650-7 A 080050%0.15 10 M
oINS | 659-7 sl HO3.0 10 M
OINE | 650-7 20 ChloliE 1| 7l
4% oINS | 659-7 M 0.70x025x0.10 1 7
oINS | 668-7 2o Chlolis 1| 7]
w0 oIS | 6687 =M 0.75%025%0.10 1| M
oINS | 668-7 29 CHllIS 1| 7l gy SIA| Saix[T= 882 8
2497 | GINS | 6687 A 0.800.300.10 1| B A Z2uA| aiix|72 882! 8
ONIE | 668-7 = H1.00 1| = | 9y 22/ alx|T= 8812 8
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oINS | 6687 B= EPS (e 1 7 ElS MEA| ZA ZME 102
2498
OIAE | 668-7 =EA 075x025x0.10 1] K S MEA| ZIMT ZIMZ 102
oI | 67311 2o S 1| 7l
2%
oINS | 673-11 EA 080x030x0.10 1] K
oIMS | 673-11 22 == 1 7 ray LTl TS MU= 1767
2500
oINS | 673-11 =M 0.75X025x0.10 1] K 2z BTA| 2SS MRIZ 1767
oINS | 673-11 2o CHEIOIS 1] 7
2501
oA | 673-11 =M 0.75X020x0.10 1] K
OINE | 673-11 Ba TS 1 7|
2502
oINS | 673-11 =M 0.75X025x0.08 1] K
oINS | 673-11 =g CHRIOJIE 1| 7
2503
oINS | 673-11 =M 0.75X025x0.08 1] K
oINS | 6738 29 CHEolS 171 | Ara | iz DY NST D=2 42
2504
QIS | 6738 =Y 075x025%008 | 1 | 7H | Ars 20| T UNST T=E 422
NS | 673-8 Ba P 1 7|
2505
oINS | 673-8 A 0.75X025x0.08 1] K
oINS | 673-11 2o SEES 1] 7
2506
oINS | 673-11 A 050%030x005 1] A
OINE | 673-11 22 e 1 7| = SEA| NS SU5I0|X0HIE
507 | oINS | 673-11 Q| 0.60x040x0.10 1] A g ETA| MNE FUsio|XoplE
oINS | 673-11 A=A 2.10%1.10x0.50 1 £ s TEA| LS S25I0|=0ME
OINE | 67311 ] EholS 112 2z STA| NS FefslolXofmiE
2508
oINS | 67311 | ARISEIM 210x1.10x050 1| s STZA| MEE SYslo|=omE
NS | 6738 ) CHEolS 1072 & oI Al g
250
oINS | 673-8 S, 0.75X025x0.08 1] K 2t 2Ol ARSES THosZl
oIMS | 673-8 22 TS 1 7|
2510
OIAE | 673-8 S 0.75x025X0.08 1] K
oIS | 6738 22 TR 1 7|
2511
oINS | 673-8 A 0.75X025x0.08 1] K
oINE | 673-8 =] = 1] 7
2512
oINS | 673-8 M 0.75x025%0.10 1| 7H
513 | QNS | 673-11 2 CHIOIS 1] 7 aet SmA| gaz
oINS | 673-11 2o Chols 1] 71| are SmA| A=
514 | oINS | 673-11 o] 0.70%050x0.12 1] K E[2} STA| M2
OIAE | 673-11 A 0.75%045x0.15 1] M a2t ETA| A=
oI | 67311 2o S 17| =R STA| QAR 21
2515
QIS | 673-11 =Y 075x020x008 | 1 | 7 | FA SRA| GIAMIHZ 2142

- 272 -



"3 T ENY Mete & =) 20214 4% 15 20

o o1}
;jg 2RHK] | K| =SSR 7= 9 74 2 | B9 g =
oINS | 673-11 Bz CIRlI= 1 7| opF= TZA| 27 S5EIR|Z 36
2 AT | 673-11 N 040x0.20%0.10 1| 7H WRES TN 27 FEX|Z 36
oMES | 673-8 = ClRlof= 1 7| Pt 2A| AlEE13
21 oINS | 673-8 A 050x0.25<0.10 1 7H At ZgA| AEE13
oINS | 6738 B2 CIRIE 1 7
2P oINS | 673-8 A 0.70%0.25%0.10 1| K
ANE | 673-8 B= CHRlOIE 1 7| o[*g 2 S8=2
2P oINS | 6738 =N 0.80x0.30<0.10 1 N o3| oA =22
oINS | 673-8 =) ChEolE 1] 7 FAN] Aok elolts ==2|
0 M | 673-8 7 0.70%0.300.10 1 7H 21X} Aok okslis ==
221 | oINS | 673-8 =) CHRlofIE 1| 7
2522 | oNE | 673-8 e CHRIoIE 1 7|
oINS | 673-8 =) CHRlofIE 1| 7
OIME | 673-8 2| 050%0.30%0.10 1| 4
e oINS | 673-8 A 060%045%0.15 1| 4
oINS | 673-8 =N 240050 1 H
oINS | 673-8 Bg ChEoIE 1] 7 oAt FZA| NS LAIOHIIE
2524 | QNS | 673-8 2| 0.60%0.30%0.10 1| 7K O*x} 2TA| MHE AolE
OIMS | 6738 =2 240050 1 Y O[*X} EuA| ARE QAolmiE
oINS | 673-8 22 ChEoE L e Bt MO MEF T 3%
2625 | oINS | 673-8 A 090%0.30%0.12 1| 4 2 ZLt O MET FA0dZ! 34
oINS | 673-8 =N 240050 1 = A S HO ME T U
oS | 673-8 == ChEoE 1] 7 e Ft HO| MET FHAL 3
20 oINS | 6738 HaloH| 0.40%0.30x0.10 1 N 24 Lt RO MET SXjodZl 3
oINS | 673-8 =) ChEoE 1] 7
2521
oINS | 673-8 2| 060x040%0.10 1| 4
oINS | 673-8 =) CRRlofIE 1| 7
2 oINS | 673-8 7N 0.75%025%0.10 1| 4
HMS | 673-8 Eo Clzlof= 1 7| (o] i ExA| EiZa} 19, Zej|e! 2k},
2629 | oME | 673-8 M 0.75%0.25%0.10 1| K o*=l Z2TA| E1Z2} 19, Z5jd|R4! 2},
oINS | 673-8 AN 080%040%0.15 1| K o*=l S23A| EiZ2} 19, Z5jd|24! 2},
OIMS | 6738 gz RIS 1 7| ol oA 222
= oINS | 673-8 A 0.75x0.25%0.08 1 | 7H ol*g 2R E8=2
NS | 673-8 Bz = 1 7| o|*g 2| =22
T oINS | 6738 =AM 0.40%0.25<0.08 1 N ol 2oA| 222
oINS | 673-8 ) CRYoIE 1] 7l o SZA| MEZ
% QNS | 673-8 =AM 0.75%0.30x0.10 1 IH gt BgA| AES
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2533 -
oINS | 6738 =AM 0.75%0.30<0.10 1 7N opol M 2 =5=
oINS | 6738 Bz S PG(ES 1 7| ARy STA| ZA ESMNEZ 96-21
2534
oINS | 6738 Q| 0.60%0.40<0.10 1 bl P STA| ZA ESMNEZ %6-21
OIMS | 6738 g2a I PS[ES 1 7|
2535
oINS | 6738 =AM 0.30x0.20X0.08 1 N
NS | 6738 B R UES 1 7| 23| Dol MsEe j=Z
2536 | o= | 673-8 =AM 0.75%0.30<0.10 1 7N 21+ Soj AlSES D=1
oINS | 6738 22 CIRllIE 1 7|
2537
M= | 673-8 ErN 0.70x0.25%0.10 1 IH
OIMs | 6738 22 CRIE 1 7| ol*oj EIA| etz
2538 —
OIAKE | 673-8 =AM 0.70x0.25x0.10 1 7K ol*o| =IA| ez
OIMs | 6738 22 = PSG(ES 1 7|
2539
oINS | 6738 BEA 0.70x0.25x0.08 1 N
oINS | 6738 22 CIRllIE 1 7|
2540
oINS | 6738 =M 0.70%0.25%0.10 1 bl
OIMs | 6738 22 CIRIE 1 7|
2541
OINE | 673-8 | 0.60x0.400.10 L
oINS | 6738 g2 ERIE 1 7|
2542
oINS | 6738 =AM 0.70%0.25%0.10 1 bl
oINS | 6738 B2 S PG[ES 1 7| P CHMA M7 2012 11732 23
2543
oINS | 6738 A 0.70%0.250.08 1 7N # CHMAL M7 2012 117842 23
OIMs | 6738 g2 CholI= 1 7|
2544
OIMs | 6738 BEAM 0.70x0.25x0.08 1 7H
OIMS | 6738 22 CIRIE 1 7|
2545
oINS | 6738 Ers| 0.70x0.25%0.08 1 7N
oINS | 6738 22 S PG[ES 1 7| gl HPA| SRR AR 1
2546
oMS | 6738 =AM 0.70x0.250.08 1 7H gl HFA| BRI AR 1
OIMs | 6738 g2 CIRIE 1 7|
2547
M= | 673-8 Er 0.70x0.25%0.10 1 IH
oINS | 6738 ga CIRlI= 1 7| 2*5 Z1A| 082 206 H2HRA
2548 - -
oINS | 6738 A 0.60x0.25%0.10 1 N 2+ 2xA| OjEZ 206 XA
oINS | 6738 Bz CIRlIE 1 7|
2549
oINS | 6738 A 0.70x0.25%0.10 1 N
2550 | ks | 673-8 2a CHEloIE 1| 7 RpxY ZTA| AL T2 96-21
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=0 4R}
| ARR | R SHER 7= 9 74 T2k | He
e A =3
oINS | 673-8 2| 0.60x040x0.10 1 7H ZPRY ZTA| T HTAMZ 06-21
2551 | QNS | 673-8 ) CIR0IE 1 7
oIS | 673-8 2o CHRloI= 1 7|
2552
OIAE | 673-8 A 0.75%0.25x0.10 1 7N
oINS | 673-8 22 TS 1 7|
2553
OINE | 673-8 A 0.70%0.25x0.10 1 7N
oINS 673-8 22 ':._PC‘,‘01I§ 1 7| t"DI»*::_ %;‘T‘_'Al /ELOEIE
2554
oINS | 673-8 A 0.75%0.25x0.10 1 7H s 2| Aklz
OINE | 673-8 22 == 1 7| wE ZA| HoHE 15 B0IHEISA
2555
oINS | 673-8 7 0.75%0.25x0.10 1 7H s 2| LoHZ 15 S0 [2A
OINE | 673-8 Ba = ES 1 7|
2556
OINE | 673-8 A 0.75%0.25x0.10 1 7H
QNS | 673-8 22 = 1 7| 20t 2| 22
2557
oINS | 673-8 A 0.70x0.25%0.10 1| 7H 2t =EA| FE2
oINS | 6738 g2 SR 1 7|
2558
INT | 673-8 7 0.90%0.300.10 1 7H
2559 | YMNs | 673-8 B CIEIOI= 1 7|
NS | 673-8 Ea Clalo= 1 7|
2560
AT | 673-8 TN 080%0.30%0.10 1| 7K
oM | 673-8 Ea Clalof= 1 7|
2561
oINS | 673-8 =M 050%0.25x0.10 1 7N
oINS | 6738 g2 ClRllI= 1 7|
2562
OINE | 673-8 7 0.70x0.25x0.10 1 7H
oS | 673-8 Ea Clalo= 1 7|
2563
oINS | 673-8 A 120x040%0.15 1 7H
OINE | 673-8 Al 0.75x050x0.15 1 7H
2564
OINE | 673-8 ) = 1 7|
oINS | 673-8 Eq S PSIES 1 7|
2565
OIAE | 673-8 A 0.70x0.25x0.10 1 7N
oINS | 673-8 ) =PI 1 7| Pa LA M = 11582 23
2566
ANE | 673-8 A 0.75%0.25%0.10 1| 7H 25 LAl M 2312 15812 23
OINE | 673-8 ) CIEoIS 1 7| = ok MRS Helbz 722 81-21
2567
oINS | 673-8 A 0.70%0.30<0.05 1 7K 2 ok AlSES Hels2 72HZl 81-21
OINE | 673-8 B2 = 1 7|
2568
OIAE | 673-8 A 040%0.200.10 1 7N
2569 | oINS | 673-8 2o = PN e 1 7|
2570 | QNS | 673-8 B2 CIR0I= 1 7|
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20214 4% 15 =2 Zd E_I-IEI'E m Ao o - = RIS

=0 4R}
e | A% | x| SHER 7= Y 7 =2k | Tl
we A xa
oINS | 673-8 =M 0.70<0.30%0.05 1| 4
oINE | 673-8 Ba CHlolis 1] 71 Pa| 27| QHSA| Z2Z 113582
2571
oINS | 673-8 A 0.75x0.25%0.10 1| 7H Z2i+g 7| SHRA| S22 113581
oIS | 673-8 B CHloI= 1 7|
2572
oS | 673-8 =M 0.75%0.25%0.10 1 7H
573 | oINS | 6738 =) CHloliE 1] 7l PA| 4| o[HRA| 5= 11352
574 | QNS | 673-8 Ba CHElofl= 1] 7
OIS | 673-8 Ba CiElofl= 1] 7 &3 STA| a2 2081211
2575
S | 673-8 A 0.70X025x0.08 1] M e Z7A| T2 208211
Qs | 673-8 2= == 1 7| or 2mA| 20tz 174 gla[okc
2576
oINS | 673-8 A 080030012 1] opre ZTA| 242 174 Ll
=K (=N Z1
oS | 6738 L) CRY0E 1| 7 | eral S SR T e
ESINR= e ===l
o577 | s | 6738 A 075%025x008 | 1 | J | @r3| =S i‘—:ﬁ_, =l 88
e RN S RN
o4A - AbM 53]
OINS | 673-8 AN 0.80%050%0.15 1] A 53] =
oINS | 673-11 Ba CHElofl= 1] 7
2578
oINS | 673-11 A 0.60x0.20<0.08 1]
NS | 67311 22 CHEE 1 7| P SIA| 2SR 87 oIMNFEZolnE
2579
OINE | 673-11 A 0.75%0.25%0.08 1] A E | SEA ANSYZ g7 GNFZoE
2580 | oINS | 67311 Ba CiElofl= 1] 7
oINS | 673-11 2= CHo= 1] 7
2581
oINS | 673-11 A 0.70%x0.250.08 1]
WS | 673-11 == == 1 7
2582
OINE | 673-11 A 0.70x0.250.08 1]
g | ZE | o731 ) CHEolS 121 | 28| 25l 857 FUS FIrk|
OINE | 673-11 A 075025008 1 M ZI*% LZLoIA| 27 FUE FILHK|
oINS | 67311 e CREoE 1] 7]
2584
oINS | 673-11 M 0.75%0.25%0.08 1| K
oINS | 673-11 2= CHloiE 1] 7
2585
NS | 673-11 =N 0.800.150.15 1
2586 | oINS | 673-11 B e 1] 7
2587 | oINS | 67311 20 CHRloflE 1] 7
OINE | 673-8 ) = 1 7| s SZA| TSCHE 707 CHisoljo ALl
2588
oINS | 673-8 A 0.70x0.25%0.08 1| 7H s ZE7A| TSR 707 CHEofo A
oS | 67311 2o CHloI= 1 7
2589
oINS | 673-11 M 060%025%0.10 1] M
2500 | olAl=E | 673-11 2o SRS 1 7| #= SR A S
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B0 AR}
tﬁg ES NN N =SSR 7= 9 74 2 | B9 - Y
oS | 67311 =M 050%0.20<0.08 1 IH 23 SHET Alio SARY
2501 | oIMs | 67311 =) CIEoE 1] 7
oIMNE | 673-11 B CHRI0|E 1 7]
2592
oINS | 673-11 7N 0.70%0.25%0.08 1| 4
oINS | 673-11 ) CRYoIE 1] 7 SR EFA| ZA =2 15
2% IMS | 673-11 A 0.90x0.300.10 1 N | TTA| T CRERIZ 15
2504 | oINS | 673-11 2g CIEolE 1| 7
oINS | 673-11 =) ChYoIE L
2595 | oME | 673-11 2| 0.60x040%0.10 1| K
OIME | 673-11 AN 0.75%045%0.15 1| K
oINS | 673-11 gz ChEoiE 1] 7 2R SOl HAH M
= s | 673-11 A 050x020%0.10 | 1 | 7K ape S0l AA0d M2
2597 | oMs | 67311 20 CHEoE 1| 7
oINS | 673-11 =22 CHoiE 1] 7l A SZA| M2
= oINS | 673-11 = 0.75x025%0.08 1] A eSS 2A| ZM2
2599 | oMs | 67311 =) CHRI0fIE 1| 7
2600 | oWMs | 673-11 Eg ClRlofl= 1 7|
oINS | 673-11 g2 ChlolI= 1 7 =2 =IA| Solis Z0EL2
0 oINS | 673-11 A 0.75x0.250.08 1 IH = 2| SIS ZOER
oINS | 673-11 =) ChEolE 1] 7 4= S;A| 22
2 OINS | 673-11 M 050%0.20%0.10 1| 4 e 2hA| g2z
2603 | oME | 673-11 Eq ClRlof= 1 7|
2604 | oMs | 673-11 Eo Clzlofl= 1 7| ! EgA| AE Aol |x[EA
OIMS | 67311 2a CiRiofI= 1| 7 2+ DAl M
2605
OIME | 673-11 =N 0.75%0.25%0.08 1| K M Z2TA| MEE 850
oIS | 673-11 22 ChoE L S ETA| ZA CEZ 15
0 OIS | 673-11 BA 080%0.30%0.12 1| i S EFA| ZA S 15
NS | 6738 Ba ChRloi= 1 7| 21} 2| ARE
e OINS | 673-8 A 080%0.30%0.10 1| 4 Ziat 2UA| MRS
oINS | 673-8 ) CRYoIE 1] 7 o SZA| MY
e oME | 673-8 A 1.20%040%0.15 1 7H 2Ixd} BIA| ARE
oINS | 673-8 =) ChEoE 1] 7 g MEA| MCH2T SYUZ U243, EXIS
0 OINE | 673-8 Q| 0.60x040x0.10 1 7H 25| MEA MUET S22 4243 =X
2610 | oINS | 673-8 =) CRRlofIE 1] 7
OIME | 673-8 == ChEolE 1] 7 a4 SZA| M F25i0|=
a AMS | 673-8 A 0.75x0.25%0.10 1 7H Zixgt 2| AEE Zoksi0|x
2612 | oINS | 673-8 =) CHEolE 1| 7
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we A xa
oINS | 673-8 A 0.75x025%0.10 1| 4
2613 | oINS | 673-8 =) CIEoE 1 7|
2614
IMS | 673-8 =M 0.75%0.25x0.08 1 7H Elc) SZmA| Qlekz 7-1,
AT | 673-8 Eg S 1 7| =N Sol7 ateny
2615
OIME | 673-8 M 0.70x0.25%0.10 1| i SIN] Sojz ojony
oINS | 673-8 =) EPGES 1 7|
2616
oINS | 673-8 A 050%0.20%0.10 1| 4
oINS | 6738 g2 SR 1 7|
2617
NS | 673-8 A 0.70%0.25%0.08 1| K
oINS | 673-8 =) CiRjolE 1 7|
2618
oINS | 673-8 M 0.70%0.30%0.10 1| K
oINS | 673-8 22 CRYoIE 1] 7 21 xH 47| IUA| HRRE B2 222,
2619
OINE | 673-8 A 040%0.15x0.15 1 IH 2% x4 27| TIQA| HokE = 222,
oINS | 673-11 2= RS GES 1 7|
2620
oINS | 673-11 M 0.70x0.25%0.10 1| 7K
oINS | 673-11 = CHEoE 1 7| o 2| AT i SS2XPIE
2621
HMS | 673-11 A 0.75x0.30<0.10 1 7H of+zl S| 20HE 5iE 2S2X|0IE
oINS | 673-11 =) R GES 1 7|
2622
oINS | 673-11 i 0.75%0.30%0.10 1| i
oINS | 673-11 =) CRRlofIE 1 7|
2623
oINS | 673-11 7N 050%0.20%0.10 1| 4
oINS | 673-8 = CHEoE 1 7| NS MEA| X7 =5 SLEH=46,
2624
oINS | 673-8 A 0.75x0.25%0,08 1| 7H = MEA| QX7 2= Zokt=/,
oINS | 673-8 2= P GES 1 7| FA 47| DA ST SIEE 222,
2625
OIME | 673-8 A 030x0.15%0.15 1| 7H 21 27| DA| LU B2 222,
oINS | 673-11 =) RS GES 1 7|
2626
oINS | 673-11 A 050x0.30%0.10 1| K
oINS | 673-11 2= EESGES 1 7|
2627
NS | 673-11 =N 050025008 1| 7K
oIME | 673-8 Eg Clalof= 1 7
2628
oIS | 673-8 =M 0.70%0.25%0.10 1 7H
oINS | 673-8 B TS 1 7| L A 23
2629
QNS | 673-8 M 0.70x0.25x0.10 1 7N g TN 22
oINS | 673-8 2 CRYoIE 1 7| a2 L7\ UZA| ZESRPZ 208,
2630
oINS | 673-8 =AM 090%0.30%0.10 1| 4 s 27| 21ZA| ZEERZPE 208,
2631 | oINS | 67311 2g CHElOIE 1 7|
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oINS | 673-11 Fr 0.30x0.15%0.15 1 IH
oINS | 673-11 Ba CIzlof= 1 7
2632
oINS | 673-11 A 0.70x0.30<0.10 1 IH
OINE | 673-11 Ba ClRllI= 1 7|
2633
s | 673-11 A 0.70x0.25%0.10 1 IH
OINE | 673-11 Ba CRoli= 1 7|
2634
oS | 67311 A 0.75x0.25%0.08 1 N
oS | 67311 so ClRlofl= 1 7|
2635
oIME | 673-11 =M 0.80x0.30<0.10 1 IH
oINS | 67311 29 ClRllI= 1 7|
2636
oINS | 673-11 A 0.70x0.25%0.10 1 IH
2637 | o= | 673-11 Cl=] CIEI= 1 7|
oS | 67311 Ho CHRolI= 1 7|
2638
oIME | 673-11 =M 0.60%x0.25%0.10 1 N
oINS | 673-11 Ea (e 1 7| =l MBA| =XIIS
m I< ||
oINS | 67311 A 0.70x0.25%0.10 1 N g MIBAl ZAIMS
2640 | oINS | 673-11 BEx CHRlolI= 1 7| Ep MEBA| =X|2S
IMs | 67311 Bx CHolI= 1 7
2641
NS | 673-11 =N 0.40x0.20<0.10 1 7N
oINS | 673-8 Ba ClRlof= 1 7
2642
oINS | 673-8 A 0.70x0.25%0.10 1 IH
oINS | 673-11 Ba CRRIE 1 7|
2643
oIME | 673-11 AN 0.75%0.250.08 1 IH
oINS | 6738 g2 S 1 7| oM ST A2
2644 —
oINS | 6738 Er 0.80x0.30<0.10 1 N oM =ZA| ME2
oINS | 673-11 Ba CIRolI= 1 7
2645
oIME | 673-11 ErN 0.60%x0.25%0.10 1 N
2646 | QNS | 673-11 B0 CIRloI= 1 7|
2647 | oS | 673-11 20 CHRlof= 1 7|
2648 | OINE | 673-11 g2 CIRloIE 1 7|
2649 | oIS | 673-11 BEx CHRlolI= 1 7
oS | 67311 2o CHRolI= 1 7|
2650
oIME | 673-11 ErN 0.70%x0.25%0.10 1 N
2651 | oIS | 673-11 2o = S =) 1 7|
2652 | o= | 673-11 22 CIEIIE 1 7|
2653 | olAE | 673-11 Bx CHRI= 1 7
2054 | ks | 67311 ) CIROIE 1 7|
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OIMS | 67311 =N 0.75%0.25%0.10 1| M
OIMS | 67311 =] CIEoE 1] 7
2655
oINS | 67311 =M 0.75%0.25x0.10 1| K
oINS | 673-11 22 TS 1 7|
2656
oS | 673-11 M 0.75%x0.25%0.10 1| 4
2657 | o= | 673-11 == TS 1 7]
658 | oINS | 67311 =] CHElofi= 1] 7
NS | 67311 22 CRYoIE 1] 7
OIMS | 67311 Q| 0.70x045%0.12 1| K
oINS | 67311 AN 0.75x045%0.15 1| K
2659
OIAE | 673-11 5 HO.30 1] F
WS | 673-11 RS H1.00 2 | =
OIMS | 67311 SR H3.00 1| F
OIMES | 673-11 =] CRYOIE L oba TN S 285
2660 -
OIMS | 67311 =M 0.75%0.25x0.10 1| K Op A=A 2 25
2661 | oMs | 673-11 Ba CRRIE 1 7|
oS | 67311 B CHRloI= 1 7|
2662
OIMS | 67311 =M 0.75%x0.25%0.08 1| i
2663 | oINS | 673-11 20 CHEloS 1| 7
2064 | QNS | 673-11 g2 CIEoS 1] 7 o*x} SZA| MFolHR
OIMS | 67311 =] CIEoE 1] 7
2665
NS | 67311 =N 050x0.20%0.10 10 A
2666 | OIS | 673-11 =20 CHRlofI= 1| 7
OINE | 673-11 Bz e 1 7| 2+l 2 =22
2667
OIMS | 67311 =N 0.70%0.25%0.10 1| 4 SN 2hA| =52
2668 | oINS | 673-11 B SIS 1 7|
NS | 67311 22 CRYOIE 1] 7 33| SIA| US2 0L 8,
2669
OIMS | 67311 =M 0.75%0.25x0.08 1| 7K a3 2UA| UST PHIZ! 8,
2670 | QNS | 673-11 =] CFRoE 1] 7
oINS | 67311 == crelols 1] 7 A OfPA| ZHZARI 10
2671
OIMS | 67311 =N 0.75%x0.25%0.08 1| i A 0fA| REZARZL 10
OIMS | 67311 g2 CHEoIE 1] 7
2672
oINS | 67311 =N 050x0.20%0.10 10 A
2673 | QNS | 67311 =] ERVIES 1] 7
oIS | 67311 2o CHRloI= 1 7
2674
NS | 673-11 HA 0.70x0.30%0.10 1 74
2675 | OIS | 67311 =) V=S 1] 7
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| ARR | R SoIBF 7= A 2 | B9
U Ay =S
OINE | 673-11 A 0.75%025%0,08 1| 7K
oIAS | 673-11 20 CHEIOIS 1] 7l s Y57 Sefil= 813
2676
OIS | 673-11 A 060x0.25%0,08 1| 74 s MET oMz 813
NS | 673-11 =) CixjoflE 1| 7
2677
QS | 673-11 =N 0.40x0.25<0.05 1 N
2678 | oINS | 673-11 =] ChEoE 1] 7 e LIFA| g 28112 21-31
2679 | oINS | 673-11 20 EV=S 1| 7
OIMNE | 673-11 =) CRRlofIE 1| 7
2680
NS | 673-11 M 0.75%025%0.08 1| 7K
OIME | 673-11 =) ChEoE 1] 7 B Z2hA| Lotz 582 82
OINE | 673-11 M 080%0.30%0.10 1| K PSLE 21| Lotz 502 82
2681
OINE | 673-11 A 0.90%0.60%0.20 1| K PSLE 2| Lotz 502 82
OINS | 673-11 =N 240%060 1 EE B S| otz 5042 82
OIMNE | 673-11 =] ChYjolE 1] 7 S 1A oz 502 82
OIMNE | 673-11 TN 080x0.30x0.10 1| 4 PSLE 1A oz 52042 82
2682
OIME | 673-11 SI=zN 240060 1 e B SZA| o= 52642 82
NS | 673-11 ol =Eel H1.00 1| F e 2| Lotz 502 82
OINE | 673-11 =) CiRjol= 1| 7
2683
oINS | 673-11 M 0.75%025%0,08 1| 7K
2684 | oINS | 673-11 =) CiRjoflE 1| 7
OINE | 673-11 g2 SR 1 7|
2685
OIS | 673-11 M 0.75%025%0.08 1| 7K
OINE | 673-11 =) CiRjofE 1| 7
2686
OIS | 673-11 Er 080%0.30%0.10 1| 7K
2687 | NS | 673-1 2= TRl 1 7|
OIS | 673-11 =) CiRjoflE 1| 7 ZI*Al 23A| RS2
2688
oINS | 673-11 A 0.75%0.25%0.10 1| 4 21l 2hA| XR2
OIMNE | 673-11 =) CixjollE 1| 7
2689
OINE | 67311 A 0.75X0.25%0,08 1| i
2690 | oINS | 67311 ) CijoflE 1] 7
2691 | oINS | 673-11 g2 CRRlofE 1| 7
6% | s | 673-11 Ba CrEloE 1 7|
2693 | oME | 673-11 22 SIS 1 7] 27| =ZA| Y22
OIME | 673-11 =] CholE 1] 7 7| SZA| AS2
260 | oS | 67311 BA 0.75x0.25%0.10 1| 7K 27| STA| AS2
OIME | 673-11 AN 0.75%045%0.15 1 | 7H | SZA| Y22
2% | oINS | 673-11 == ChoE 1] 7 ELE Z47|= HEIA| SEI=
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oINS | 673-11 =AM 0.70%x025%0.10 1 7N EILES 7|5 TElA| 4B
OIME | 673-11 == H1.00 2 =S EL A= HEIA| 512
oINS | 673-11 2 CHRIE 1 7|
26%
oINS | 673-11 =M 0.80%0.30<0.10 1 N
2697 | QA= | 673-11 i) CHRIOIE 1 7|
2608 | oIAkE | 673-11 2a CRI= 1 7|
2609 | oAkE | 673-11 g2a CIRlI= 1 7|
27100 | o= | 673-11 29 CIRlI= 1 7|
OIMS | 673-11 22 = PSG(ES 1 7| 2 ZuA| 255 1025 SHizfHIAL
2701
oIME | 673-11 =AM 0.70x0.25x0.08 1 N 2= Z2xA| = 1025 SHEEFEIAIL
oINS | 673-11 g2 ClRlI= 1 7|
27102
s | 673-11 N 0.60x0.25%0.10 1 IH
2703 | QANs | 673-11 i=] CHElOI= 1 7|
oINS | 673-11 so ClRlof= 1 7|
2704
oIME | 67311 ErN 050%0.20x0.10 1 N
2105 | oNs | 673-11 =) ClRlof= 1 7| 21 S2A| TSIEHZ 655 Ao XA
oINS | 673-11 2 CHRlolI= 1 7
2706
IMs | 67311 M 050%0.15%0.15 1 N
2707 | oINS | 673-11 g0 CIRIE 1 7|
oINS | 673-11 ga S PSG[ES 1 7| E LIFA| CiSS ChEHA
2708 -
oINS | 673-11 =AM 0.70%0.25%0.10 1 N = LIZA| CiSS CHEHA}
oNE | 673-11 B P G[ES 1 7|
2709
oINS | 673-11 =M 0.30%0.200.10 1 N
27110 | oNE | 673-11 20 CIRIE 1 7|
AN | 631 22 Chaolis 1|2 ors Zet HE| Ao 372 23
2711 -
oINS | 673-11 =AM 0.75%025%0.08 1 7N ors Zt RQIA| Rl 222 23
oINS | 673-11 2a ClRlof= 1 7|
2712
oINS | 673-11 =M 0.75%0.25%0.08 1 N
oINS | 673-11 22 SIS 1 7| =] ETA| MNYS
2713 | oAkE | 673-11 M 0.75%0.25X0.08 1 N Hha| 2uA| ANE
oINS | 673-11 A 0.75%0.45%0.15 1 7N gk 2| ARE
OIMS | 67311 =) CHRlofE 1] 7
2714
oIME | 67311 ErN 0.60%x0.25%0.10 1 7H
2715 | oME | 673-11 B0 CiRloI= 1 7|
oINS | 673-11 g2 CRRlI= 1 7|
2716
oINS | 673-11 M 0.70%0.25%0.10 1 bl
2117 | oNis | 673-11 20 ClRlof= 1 7] AFS FIIHA| ARRlZ
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oINS | 673-11 =N 0.60x0.25<0.10 1 IH ArE 2uA| Az
2718 | oiNE | 673-1 ) TRl 1 7|
NS | 67311 2= SV ES 1] 7 M= =N B5212
2719 -
OINE | 673-11 A 0.75x0.25%0,08 1| 7H M= ZEA| FSER
OIS | 673-11 29 CHElol|= 1| 7
2720
oINS | 673-11 A 0.80%0.300.10 1 7H
oINS | 673-11 B2 EPGES 1 7|
papal
oINS | 673-11 N 050020020 1 7K
oINS | 673-11 Bz CIRoIE 1 7| & 2| Esl2 208211
2122 —
NS | 673-11 =M 0.75%0.25x0.08 1 7K &2 S2A| IalZ 202211
oINS | 673-11 Ex Clalo= 1 7|
2723
NS | 673-11 N 0.75x0.25%0.08 1 7H
2724 | oINS | 673-11 Bz EGES 1 7|
oINS | 673-11 B2 CHElOIE 1 7|
2125
NS | 673-11 2 050x0.20%0.10 1 7H
oINS | 673-11 B CHEE 1 7|
2726
AT | 673-11 =AM 0.40x0.20%0.10 1 74
oIS | 67311 22 CiEl= 1 7| ozl 2oA| YAEQZ 108
2127
oINS | 673-11 A 0.80%0.300.10 1 7H o[*%l 2A| AAZSZ 108
oINS | 673-11 = TS 1 7|
27128
NS | 673-11 A 060x0.25%0.10 1 IH
279 | oINS | 673-11 B Chloi= 1 7|
QNS | 67311 22 === 1 7| ! 27| SItA] OJARIEACE05 |
2730 _
HMS | 673-11 A 0.75x045%0.12 1 7H lac! 7| Sl=A| OAJZIECHZ05 |
2731 | oINS | 673-1 2g CHElOI=E 1 7|
oINS | 673-11 B2 TRl 1 7|
213
oINS | 673-11 N 040x0.20%0.10 1 7K
NS | 673-11 B2z e 1 7| efst SEA| AEE 1424
2133
IMS | 67311 A 0.90x0600.20 1 7K ok5} SgA| ARE 142842
oINS | 673-11 Ea Clalo= 1 7|
27134
AT | 673-11 =N 0.70x0.25%0.10 1 74
oINS | 673-11 B= TS 1 7|
2135
oINS | 673-11 N 0.90x0.30x0.12 1 7H
2736 | oINS | 673-11 23 (B 1 7|
oINS | 673-11 =i ClaloE 1 7|
2737
OINE | 673-11 A 060x0.25 %008 1 7K
238 | oIS | 673-11 Ho Chalof= 1| 7
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2739 | oE | 673-11 22 oS 1 7|
2740 | oS | 673-11 22 S S(GIES 1 7|
211 | oNs | 673-11 22 CIRE 1 7| S| =EA| G2 1072
oINS | 67311 2= CRRlIE 1 7| | =IZA| G2 107
2142 | Ats | 673-11 24| 0.75x0.45%0.12 1 N ES | =ZA| G2 107HL
oIMT | 673-11 AN 0.75%0.45x0.15 1 74 =[*& ZIA| Il2 107242
OIME | 673-11 22 SIS 1 7|
2743
oINS | 673-11 = 0.70x0.30x0.10 1 7H
oINS | 673-11 B RS GES 1 7|
2744
QiME | 673-11 = 0.60x0.25x0.10 1 7H
2145 | AtE | 673-11 == EPS(ES 1 7|
2146 | Aks | 673-11 == EPS(ES 1 7|
oS | 67311 B (B 1 7| oS ZEA| 5=
2747
NS | 673-11 =N 1.20%0400.10 10 il S| 822
oINS | 673-11 2= RS GES 1 7| T MEA| ST ANS17 TFR|2A
2748
oIME | 673-11 = 0.70x0.25x0.10 1 N FAS MEA| S AIYS17 Ti3E|2A
oINS | 67311 2= CRRIE 1 7|
2749
OINE | 673-11 A 0.75%0.300.10 1]
oS | 67311 B2 CRIS 1 7|
2750
NS | 673-11 E:2S 075%030x010 | 1 | 7H
OIAIE | 673-11 g2a CIEIOIE 1 7| S| MEA| 2 FSME
2751
NS | 673-11 M 050%0.20%0.10 1| M Elec] M2A| 2T E3M2
2152 | QNS | 67311 B ChEoIE 1 7| S MEA| LT FSAM=
OIMS | 673-11 B ChEoIE 1 7|
2753
oINS | 673-11 A 0.75x0.25%0.08 1| i
NS | 67311 == = 1] 7l ol SzA| 2= 42
254 | NS | 67311 A 080x030x010 | 1 | 7 | &3 2A| S22 412
GINE | 673-11 A 090x060%x020 | 1 | M | &S STA| S22 4012
OIS | 673-11 = CHEoE 1 7| o ZEA| INE 19 RETTIHM
275
oINS | 67311 = 0.80x0.25x0.12 1 74 i A IMZ 19 FETIFHM
2756 | oNs | 673-11 B2 CRIS 1 7|
oINS | 673-11 =] TS 1 7| a ZA| INE 19 FETFHM
2757
oINS | 673-11 = 0.80x0.25x0.10 1 74 A ZXA| ONZ 19 RETIFHIM
oINS | 673-11 B CRYoIE 1 7| a ZEA| INE 19 RETTIHIM
2758
oINS | 673-11 =M 0.75%0.25x0.10 1 74 Z* SEA| INMZ 19 FETFHM
oINS | 67311 B ChEoIE 1 7|
2759
oIME | 673-11 A 0.80%0.30x0.10 1 7H
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oINS | 673-11 == CHlolIE 1| 7
2760 | QNS | 673-11 =M 0.70%0.15%0.15 1]
oINS | 673-11 S HO.30 1] 7
2161 | QIS | AMO-3 == CHloIE 1| 7
2762 | QNS | AHO-3 =) CHlolE 1| 7
oIS | AHO-3 == CHlolE 1| 7
o oINS | AHY-3 M 0.60x0.300.10 1]
2764 | QNS | AHO-3 =] CHlolE 1] 71 M SEA| GAZ 250812
oS | AHO-3 2= CHoIS 1| 7
e OIAE | AHO-3 A 0.70%x0.25%0.10 1] A
OIS | AHO-3 2o CHlolE 1| 7
e oINS | AHY-3 =AM 0.75%0.25%0.10 1]
2167 | NIE | AHMY-3 =) CRYoIE 1| 7
oINS | AHO-3 B CHElolS 1] 7l
2768 | GIAE | AMO-3 AN 0.75x0.45%0.15 L
oINS | AHO-3 of| 0.70%0.40%0.15 1] A
OIS | 673-11 22 P TES 1| 7
e OINE | 673-11 AN 0.75%0.45%0.15 1]
OINES | 673-11 g2 =T =S 1 7|
2170
OIS | 673-11 =M 0.70x0.30<0.20 1]
oS | 673-11 B CHoIS 1] 71
o oS | 673-11 =M 0.70x0.30<0.20 1] A
OINE | 673-11 2o CHlolE 1| 7 =Sl S| MYZ 28NS
22 | QIS | 673-11 Q| 0.70x0500.15 1 N =Syl S| MEZ 28AQINS
oS | 673-11 AN 0.75%0.45%0.15 1 M A SHA| MHZ 28NS
273 | QNS | 67311 22 CHlolS 1| 7 A STA| MYZ 2B2AQINS
o | s | et || == i B N B M MEA| 257 SEM= 3
oS | 673-11 =) CHoIS 1| 7 i SxA| 84S suid
e IS | 673-11 A 0.75X025%0.10 1 N B 2uA| Sol= g
2776 | QS | 673-11 22 P TES 1] 7
27 | QNS | 67311 22 P TES 1| 7
oS | 673-11 2o P TES 1| 7
o oINS | 673-11 =M 0.75%0.25%0.08 1]
oINS | AHY-3 == ERES 1| 7 24 1BEA| YAZ 565HHZ 23 ZAIZE R
e IS | AHO-3 =M 0.70%x0.30%0.10 1] i e [SEAl QA2 565812 23 ZAIZZ RN
2780 | QE | AMO-3 22 CHlolE 1| 7 M TR MBS CHEMZ 25-14
2781 | QNS | AHO-3 22 CHElolIS 1] 7l
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;j; 2RHK] | K| SEF 7= 3 74 2 | B s =
NS | AHO-3 L 0.75%x0.25x0.08 1 74
NS | 4HO-3 == H1.00 1 =
NS | AHO-3 L=l H1.50 1 =
2782 | Mls | AHO-3 2z ChloI= 1 7|
OINS | AHO-3 2z CHEIE 1 7| oz MEA 27 S2= 82
o OIMT | AHO-3 A 0.75x0.25%0.10 1 74 oz MEA| F127 FYUZ 82
2784 | s | 4HO-3 2 Chaloil= 1 7|
oINS | AHO-3 20 CrEolS 12| orF MNgA| 127 592 82
o NS | AHO-3 A 0.80%030%0.12 1 opz MSA| 127 ==z 82
2786 | QNS | AHO-3 B2 CHEloIE 1 7|
2787 | OIS | AHO-3 =g CHElol|= 1| 7
AT | AI23-1 = = 1 7|
o NS | 4231 A 0.800.300.12 1 7H
AT | AI3-1 2= TS 1 7|
o oINS | A3 =M 0.70%0.30x0.10 1 74
290 | oS | A2 2= CHEloi= 1 7]
2791 | oINS | ARA 2g CHElol|= 1| 7
ANE | ARA = S 1 7| o[l M PO pekE
279 | oNE | A1 = 0.75%0.25%0.10 1 N O*%l Rt S0l AlstS
OIME | ARd == H1.00 1 = o[zl M Fok AEkE
OIME | A1 == CRYOIE 1 7| o[zl e Fok AEkE
o ANE | AR =M 0.75%0.25x0.10 1 7K o[*xl Aot Sol AlsES
oIMNE | 673-11 Bz TS 1 7| SN 2| A7
o HMS | 673-11 A 0.30x0.25%0.10 1 7H ¥ 2gA| A7
ANS A1 22 CRIS 1 7|
279%
NS M2 N 0.40x0.10%0.10 1 74
oS | LA 22 CHOIE 1] 7 il SEA M=
o oINS | ARA 2| 0.60<0.40x0.10 1 7H el Al M2
297 | oS | A2 = e 1 7| &gt =EA| MEE
27198 | oWE | 673-11 g2 CERIOIE 1 7|
NS | 673-11 2= CHElofIE 1] 71 o2t ZA| fE2
219 | s | 673-11 = 0.70x0.30%0.10 1 74 42t =TA| 22 86
oIMNE | 673-11 Al 0.750.45X%0.15 1 74 o4+t =XA| 22 8682
2800 | oINS | 673-11 B TS 1 7| ezt SEA| 22 86
oINS | 673-11 B TS 1 7|
2801
s | 673-11 HA 0.75x0.25x0.08 1| 4
2802 | oNs | 673-11 B CIEloIE 1 7|
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- SNV
;j; 2RHK] | K| SHET 7= 3 74 T2k | Cie g =
NS | 673-11 Q| 060x0.40%0.10 1| 7H
NS | 673-11 B ChYolE 1] 7 = Z7| ZZA| AR 12
0 NS | 673-11 A 0.70x0.25%0.10 1| K T 27| 2ZA| AR2 12
oINS | 673-11 == CRYoIE 1] 7 af LA AT SN2
> OIMS | 673-11 =N 0.75%0.25%0.10 1| 4 =T ZZTA| MT N2
oINS | 673-11 2g ChelolI= 1 7|
. oINS | 673-11 Q| 0.70x0.45%0.10 1| 7H
2806 | oME | 673-11 22 G (= 1 7|
QNS | 67311 ) CIRoIE 1 7| 2 =) sz
7 oINS | 673-11 A 0.75%0.25%0.12 1| K 2 24| 592
2808 | OIS | 673-11 2o SRS 1] 7
IS | 673-11 22 CHEloS 1| 7
0 NS | 673-11 =N 0.70%0.30%0.10 1| 7H
oINS | 673-11 B ChElol= 1] 7l Elgel LFAl M MES
w0 OIMS | 67311 Q| 060x040%0.10 1| 4 ESpel] LTA| AT MEE
2811 | NS | 673-11 B ChEoIE 1] 7l g FA| M MES
oINS | 673-11 B CiRjofE 1| 7 P hnl} SZA| MEZ
2812 | oINS | 67311 A 0.75%0.25%0.08 1| 4 bS]} 2A| AlER
ONE | 67311 | EEE H1.00 1 F | 3 S;A| AER
NS | 673-11 B CIEoS 1| 7
2813
NS | 673-11 A 0.75x0.30%0.10 1| 7H
2814 | oINS | 67311 2 CRRlofE 1] 7
NS | 673-11 e RGeS 1 7|
2815 | oINS | 673-11 M 090x0.30%0.12 1 | 7H
OIME | 673-11 AN 0.75%045%0.15 1| 7H
OIMS | 673-11 2= P GES 1] 7l P ATA| ZA BUZ 1702
0 oINT | 673-11 A 0.75%0.25%0.10 1| i A\ LFTA| LA B2 17082
oINS | 673-11 22 CIAo= 1 7|
A OIME | 673-11 A 0.70%0.25%0.10 1 | 7H
oINS | 673-11 B R = 1| 7
218 OINE | 673-11 THE| 0.60%0.30<0.10 1 4
oINS | 673-11 =] R GES 1] 7l
o OIMES | 673-11 A 0.70%0.25%0.10 1| 7H
2820 | NS | 673-11 B ChEoiE 1] 7 ez =EA| S22
2821 | oINS | 67311 =) CHE0IE 1| 7
82 | NS | 67311 20 CHRlol|E 1| 7
2823 | oINS | 67311 B CRRlofE 1| 7 Esgel 2RA| OGNS

- 287 -



20214 4% 15 =2 Zd E_I-IEI'E m Ao o - = RIS
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224 | oINS | 673-11 20 CIROIE 1| 7
oINS | 673-11 23 TS 1 7|
285
OIAE | 673-11 =N 0.75%0.250,08 1] A
NS | 67311 2o T 17| 2= TN BT 22
806 | oINS | 673-11 A 0.75%025x0.10 1] K 2= Yz E7 2=
oINS | 673-11 MM 0.75%0.45%0.15 1] K 2= Y= E7 2=
oINS | 673-11 2o CHElofl= 1] 7 ESES UL HHSS SIARZI5Z
2807
oINS | 673-11 A 040%0200.10 1] A e QIR HHAS IAJZ5Z
oINS | 673-11 g2 SIS 1 7|
2828
oINS | 673-11 7N 0.75%025x0.08 1 A
oINS | 673-11 20 CIRlo)E 1] 7
2829
oINS | 673-11 o] 0.75%0.40%0.10 1 M
830 | NS | 67311 B0 CiRlofl= 1] 7
oINS | 673-11 g2 SIS 1 7]
2831
oINS | 673-11 A 0.75X025x0.08 1 A
BR | NS | 67311 2o CIRio)E 1] 7
WIS | 67311 e CHols 12| Ak TokE MBS Hobz
BB | oM | 67311 M 0.70%x0.25%0.10 1 A R 201 ASES Lol
OIAE | 673-11 AN 0.80%0.45%0.15 1 A R ol AlSES Liolsz
oINS | 673-11 B2a TS 1 7| A= SOk ABES HHelbZ
2834
oINS | 673-11 A 0.75%0.25%0.10 1] K R ol AlSES Lol
NS | 67311 2o o) 1] 71| 2= SuA| AIZ 208 SHARBIHA
835 | OIS | 673-11 A 0.75%025x0.10 1 A 21l Z2A| AFRIE 208 CIARITHA
OINE | 673-11 Ak 060x0.40%x0.15 1| 7H 21l SIA| AEZ 208 OIARCHA
oINS | 673-11 =] CIRIO)E 1] 7
8%
oINS | 673-11 A 0.70X025x0.10 1 A
oINS | 673-11 g2 SIS 1 7| g =FAl =R 50 SHIA
2837
oINS | 673-11 A 0.75%025x0.12 1] K 2i*od 2FA| EE1Z 5) SHIA
oINS | 673-11 23 CHRI0|E 1 7| A TRA| AR 50 SHIA
2838
oINS | 673-11 A 0.75%025%0.10 1] K Zi*od 2FA| SR 5) SHIA
oINS | 673-11 =] CIRO)E 1| 7 2*of 2FA| EE1Z2 5) SHIA
2839 | oINS | 673-11 A 0.80%0.30%0.12 1] K Zi*od SFA| A 50 SHIA
OIAE | 673-11 AN 080050015 1| K 2o 2FA| TR 50 SHIA
840 | NS | 67311 2o CHRloi= 1] 7l o TS OIAA| MBI 41 HIAKEOIR]
oINS | 673-11 23 A G(ES 1 7] P! TS AMA| MSIZ 41 HIARH A}
2841 | OINS | 673-11 A 0.75%025%0.10 1| K o TS QIMA| MBIZ 41 HAEIOH R}
oINS | 673-11 AN 0.75%0.45%0.15 1 A 2*o TS OIAI| MBIZ 41 HIAREOI R}
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2842 | oS | 673-11 Ba 1= 1 7|
oINS | 673-11 Bz EPS(ES 1 7| 4t TAA| AR
2843
oINS | 673-11 ErN 0.40x0.20<0.10 1 7H ZI* AL TINA| ZARERZ
IMs | 673-11 22 TS 1 7| =2 = T3 2=
2844
oINS | 673-11 =AM 0.40%0.20%0.10 1 74 22 M2 HSA| Qo=
2845 | OIS | 673-11 Ho CElol|= 1| 7
oINS | 673-11 22 CIEoIE 1 7| s =ZA| SE 2=3eA
2846
oINS | 673-11 A 0.40x0.20<0.10 1 N = 2| 205 Zegpia
oINS | 673-11 B2 CIRIlI= 1 7|
2847
oINS | 673-11 =M 0.30<0.10<0.08 1 N
oINS | 673-11 22 CHRI0IE 1 7]
2848
NS | 67311 =N 0.60%0.25x0.10 1 74
2849 | oNE | 673-11 gz CIRlI= 1 7|
oINS | 673-11 B2 CIRlI= 1 7|
2850
oINS | 673-11 Ers| 0.30x0.20<0.08 1 N
oINS | 673-11 22 EPS(ES 1 7 = ME 857 HEAS 239
2851
oINS | 673-11 =AM 0.75%0.25x0.08 1 N ;2 ME 857 HEAS 239
oINS | 673-11 gz CIRoli= 1 7|
2852 | oAkE | 673-11 2| 0.60<0.40<0.10 1 N
oINS | 673-11 A 0.75%0.45%0.15 1 N
2853 | oINS | 673-11 22 SR 1 7|
oINS | 673-11 22 EPSG(ES 1 7
2854
OINE | 673-11 2| 0.70x0.40%0.12 1 N
oINS | 673-11 22 CH0IS 1 7| org 4= A 2IEE 242
2855
oINS | 673-11 A 0.30x0.15%0.15 1| i org 7| HREA| RiFS Iz
oINS | 673-11 22 S PSG(ES 1 7| o= =EA| MEE
2856
oINS | 673-11 =AM 0.75%0.25x0.08 1 N o< 2gA| ARE
IMS | 673-11 Bz CIRIiI= 1 7| Hrs =IZA| ARl2
2857 -
oINS | 673-11 =M 050%0.20<0.10 1 N I Al A2
NS | 673-11 2= TS 1 7| ' =IA| BHACHE 337242 35
2858
OINES | 673-11 A 0.70x0.300.10 1 N PILES S| AR 337242 35
oINS | 673-11 Bz CIR0lI= 1 7|
2859
oINS | 673-11 =AM 0.70x0.25<0.08 1 N
oINS | 673-11 B2 CIRII= 1 7|
2860
oINS | 673-11 =AM 0.40x0.20<0.10 1 N
2861 | oNs | 673-11 g CIRloI= 1 7|
2862 | oINS | 67311 Ho CRlof= 1 7|
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oINS | 673-11 2= CHlolE 1] 7 =g STA| AR 363 Alotolagl
o oINS | 673-11 =N 0.80x0.30%0.12 1] A = SZA| ASIZ 363 Alotolag
ANE | 67311 =22 CRoIE 1 7| oAbt = HRAFA| 2012 148 TS
! OINE | 673-11 | 0.60x0.30<0.10 1] 7 | ofAkt Z7|= HAFA 22 148 55
oINS | 673-11 2= cHloliE 1] 7l = T EEH TAMRE
0 OINE | 673-11 =N 0.70x0.30%0.10 1] 2+l AN SEH ZoMeIZ
oINS | 673-11 2= CHlolE 1] 7 e SZA| Ael2
0 oINS | 673-11 Q| 0.60x040x0.12 1] A Z*et SZA| a2
oINS | 673-11 2= CHlolIE 1] 7l org 7 |= HAFA TS 2=
7 OINE | 673-11 = 0.30%0.15%0.15 1] M org |z LAl 2idS 22z
OINE | 673-11 2= CIRIOIS ] e Z2A| 52
o oINS | 673-11 =X 0.75%0.25%0.08 1] A A Z2A| 52
S | 673-11 22 CHoliE 1| 7] 25t ol Sols exiop
o oINS | 673-11 = 0.75%0.30%0.10 1] A & Fokz Fokg W=okd
oINS | 673-11 2= SIS 1] 7
2870
QNS | 673-11 of| 0.60x040x0.12 1] A
oINS | 673-11 22 cHoiE 1] 7l AR SmA| YS2 121 Selzjo|A
27 | oNs | 673-11 o] 075%045%015 | 1 | 20 | z+&d 2uA| Y22 121 Zeizjojag
oINS | 673-11 AN 0.60x030x0.15 1] A AR SA| U422 121 Selzjojag
oINS | 673-11 2= CHlolE 1] 71 rAg! SA| USZ 121 Selzjojagl
B2 | NS | 673-11 AN 0.60x0.300.15 1] A 22l STA| Y22 121 Selzjo|A
oS | 673-11 e H1.50 4 | F PAg SA| USZ 121 Sel2jojagl
oS | 67311 =) RO 17| ord SHA| S 33-3 SO
e OINE | 673-11 = 0.40x0.20%0.10 1] A oA ZA| ASlZ 303-3 S0lA
oINS | 673-11 2= CHlolE 1] 7l 23 | VI A ST S 36-7
i NS | 673-11 A 0.70x0.25%0.10 1| 7N 25| | 7| MtA| BRI HiMEEHZ) 36-7
oINS | 673-11 2= =S ES 1] 71
875 | oS | 673-11 =N 0.75%0.25%0.10 1]
OINE | 673-11 s H0.30 1]
oINS | 673-11 22 cHloliE 1] 7 s LFTA| 0 HEEYZ
w0 NS | 673-11 M 0.75x0.250.10 10 A PALES LZA| A OISO
2877 | QiNs | 673-11 Ba = 1 7| 2+ =EA| plel=
OINE | 673-11 22 CHOIE 1] 7l raged S=ZA| SoiiRl= 8821 24
o oINS | 673-11 =AM 0.70x0.25%0.10 1] A e STA| SlixIE 88 24
oINS | 673-11 22 cHoiE 1] 7 or ETA| SHEEZ 2B MX|IAEf
o ONT | 673-11 A 0.75x0.25 %008 1| 7K oA BRA| SHERZ 23 AMX|AEE!
2880 | IS | 673-11 22 CHoiE 1] 7l A | SEA| g2 10792 16, ?0|M
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OINE | 673-11 A 0.75x0.250.08 1| ESRES SuA| Zaj2 1072 16, 0|M
oINS | 673-11 29 EASVIES 1| 7
2881
oINS | 673-11 M 0.40%0.200.10 10 M
NS | 673-11 == VS 1| 7] oy SZA| A2
2882 | oNE | 673-11 =N 080%0.300.12 10 oM STA| AYZ
S | 673-11 oM 0.75%045%0.15 1] M o A AR
NS | 673-11 29 RV 1| 7
2883
OINE | 673-11 A 0.60%0.200.08 10
NS | 673-11 29 Chlolis 1| 7]
2834
OINS | 673-11 =N 0.75x0.250.08 10 M
oINS | 673-11 == chiolE 1| 7l A 47| Q| BozeRZ
2885
NS | 673-11 =N 0.75%0.25%0.08 1 | 4 s Z47| O | Eozepz
OINE | 673-11 29 RIS 11 7l
2836
OINE | 673-11 A 0.30x0.15x0.10 1
NS | 673-11 29 EAIES 1| 7l 2l 2| 5122 30 OHSIA
2887 - -
NS | 673-11 =N 060%0.25%0.10 1| 4 HAl ZUIOkA| B[242! 39 iEIA
NS | 673-11 =l ESIES 1| 7 E SuA| AIS2 63 FRCK|
2838
OINE | 673-11 A 040%0.200.10 1| A SUA| ASZ 63 FRACK|
NS | 673-11 29 RIS 11 7l
2889
oINS | 673-11 M 0.75%0.300.10 10 A
OIMS | 67311 22 CRYOIE 1] 7 =H M2A| =27 5ll= 508
2890 — _
OIAE | 67311 =AM 0.75x0.25x0.08 1 7H k=i MEA| =27 5|2 508
2891 | QoiNE | 67311 =) CilolE 1| 7
OINE | 673-11 == VS 1| 7]
289
OINE | 673-11 M 0.70x0.200.10 10
2898 | GNE | 673-11 29 EASVES 1| 7
NS | 673-11 29 EASVIES 1| 7] Al STA| Y22 17189210
2804
OINS | 673-11 =y 0.75x0.250.08 10 AlA SxA| A22 1718210
28%5 | oAM= | 673-11 29 CHlof= 1| 7
oINS | 673-11 == S 1| 7 ot SZA| S22
28%
oINS | 673-11 =AM 0.75%0.25%0.08 1 N il =ZA| SE=
OIS | 673-11 29 RIS 11 7l
2897 | QiNE | 67311 =y 0.70x0.250.10 10
OINS | 673-11 A 0.75%0.450.15 1
288 | oMz | 673-11 == cholE 1| 7l e SZA| GAZ 1213
289 | NS | 673-11 2z CHEE 1 7| El| SEA| GAMZ 121
2000 | QNS | 67311 22 CioE 1| 7]
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20214 4% 15 =2 Zd E_I-IEI'E m Ao o - = RIS

G| AAR | R =SSR 7= % 74 T2 | Tl
e M LS
OINE | 673-11 29 RIS 1| 7]
2001
OINS | 673-11 =y 0.60%0.250.08 1| 4
NS | 673-11 29 oS 1| 7] s | MSA 45T SAUZ 813 HEPHA
2902
OINS | 673-11 =N 0.75x0.25x0.10 1 Zrs | MSA| MET SoMAZ 813 HERAA
2003 | oiNE | 67311 29 RSV 1| 7] 2 QA BT MERE 317-38 SUS0IE|
AMS | 673-11 == Chlo= 1 7| a's MEA| M= SAE 813 HEPHA
2004
oINS | 673-11 M 0.75x0.250.10 1 s | MSA H5T SAZ 813 HEPHA
NS | 673-11 29 EASVIES 1| 7l 0= | CHTZRIA| ST CHES CHAYEEDS,
2905
OINS | 673-11 A 0.75x0.25x0.10 10 A 02 | CHTEYA| 2T CHES CHAIEESS,
206 | QINE | 673-11 29 oS 1| 7]
oINS | 673-11 == cholE 1| 7l 20l MEA| =7 QujA246
2007
oINS | 673-11 A 0.75x0.25%0.08 1| 7H ol*Hj MEA| HE7 2uii=46
OIS | 673-11 29 RIS 11 7l
2908
OINS | 673-11 A 040020010 10
OINS | 673-11 29 Chlolis 1| 7l & SHA| ojEx|2
2909
QNS | 67311 =M 040%0.200.10 1 7K M 2gA| ojEX|z
NS | 673-11 29 ESVIES 1| 7]
2910
OINE | 673-11 Q| 060x0.400.12 1
NS | 673-11 29 ChiolS 1] 7 ope ok Foks AE216 FHAR
2911
OINE | 673-11 A 0.70x0.25x0.10 10 A op2 ok Foks AE216 ZHARI
oINS | 673-11 29 ChRiolS 1| 7l g SIA| et 20842
2012
oINS | 673-11 A 060x0.250.10 1| PSRet Z2xA| glotz 20842
NS | 673-11 =l ESIES 1| 7] ope ol Foks AE216 FHAR
2913
OINE | 673-11 A 0.75x0.30x0.10 1| A op2 ok Foks AE216 FHAR
oINS | 673-11 22 EASVES L
NS | 673-11 M 0.75x0.250.10 10
2914
NS | 673-11 AR 0.75%0.450.15 1
oIN= | 673-11 =2 240<060 1| H
OINE | 673-11 == choiE 1| 7l a4 47|z OFA| s ZECH2 2241,
215
OIS | 673-11 M 0.75x0.250.08 10 a4 27|z OJA| s ZECH2 2241,
oINS | 673-11 == RV 1| 7]
2916
S | 673-11 AN 0.800500.15 10 A
oINS | 673-11 29 Chlolis 1| 7]
2017
OINS | 673-11 =y 0.75x0.250.08 1
OINS | 673-11 22 oS 1| 7 s oI AlERS gz
2918
IS | 673-11 E:25 0.70x030%0.20 1 M s Dol ABES 2R
2019 | oiNE | 673-11 29 RSV 1| 7] s oI AlSkS gz
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Ae3o T EY Attt =50 20214 48 152 =Y
h
G| AAR | R =195 7= 3 74 2 | B
e M LS
oINS | 673-11 B2 mpv == 1 7|
2920
oIMNE | 673-11 = 0.50x0.20<0.08 1 74
OINE | 673-11 2o CIRllI= 1 7| O[*X} =ZA| AMS2 113,
2921
oINS | 6731 EEA 0.75%0.25x0.08 1 74 O*X} =ZA| B2 113,
NS | 673-11 Bz CHEE 1 7|
2922
oINS | 673-11 HA 060x0.25x0.10 1 7H
oINS | 673-11 == EPS(ES 1 7|
2923
oIME | 673-11 A 0.75%0.25x0.10 1 74
24 | OIS | 67311 2a RIS 1| 71| e STA| g2
- _ =lo) el [=1=2 _q_ﬁgopgg 65
OJAI= - 2o CIR0lI= 7 AlFE T =2 o835 oo
NS | 673-11 = = 1 [ ES o=ol= T
2925 = ol EZoI== 65
- 5o 25 LETUSE
O1An_o _ r,_&-‘[ . } | 7 A._l*g T =2 o_ oo
o4 673-11 0.75%x0.25x0.08 1 i o=o|=m|
2026 | Qs | 673-11 B (B 1 7|
oINS | 673-11 22 TS 1 7| Bt TEA| HeH= 52tz
2927
OINE | 673-11 e 0.75%0.25x0.10 1 7K gt 2| LoHZ 542l
2028 | Qs | 67311 Ba TS 1 7|
s | 6731 =2 ol 12| 2z Fol7 =g URE 6
2929
NS | 673-11 = 0.500.15x0.15 1 74 3 okt el=25 == 64
2030 | oMk= | 673-11 == EPS(ES 1 7
oINS | 673-11 ) TS 1 7|
2931
oINS | 673-11 = 0.40x0.20x0.10 1 74
oINT | 673-11 B TS 1 7| gk 47| HEIA| 35S o=
2932
oINS | 67311 A 070x025%010 | 1 | A gp 7| e HSE olE=
2933 | o= | 673-11 Eo ClRlof= 1 7|
OINE | 673-11 =t = 1 7| e SIA| AYZ 208 oINS
2934
NS | 673-11 M 050%0.200.10 1 AP SA| AR 208 OIARICH
oINS | 673-11 ) TS 1 7|
2935
OIMNE | 673-11 A 0.75%x0.25x0.08 1 74
0% | GNE | 673-11 2o CijoflE 1] 7 == SZA| SdlS 367-1 Z2AXSHA
HMS | 673-11 29 CRROIE 1 7|
2937
oS | 67311 M 0.90<0.500.15 1 7H
oS | 67311 == EPS (e 1 7
2938
oIMNE | 673-11 = 0.